pulllD

50

Entries

0.01242

Mean

1.05

Std Dev

|

55.13/49
-209.5

2 [ ndf

0

X
p

+136.4

reg_asym_us_avg_mean vs run

-3000
-4000

o
n
[*)]
o
pull

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

OIII|III|II

50

i :['Entries

NN ANNNENNEN]
=

o~




88.07 /49
96.6 + 0.09644

X2 [ ndf

‘0G6€
‘056€
‘0S6¢€
'‘056€
‘0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6¢E
‘8¥6€
‘876€
‘8¥6€
‘8¥6€
‘876€
PAZIS

p0
%

reg_asym_us_avg_rms vs run

'LV6E
'LV6E
'LV6E
WAZGS
‘9v6¢€
‘9r6¢€
‘Ov6€
et
‘9v6€
‘SY6E
‘SV6E
‘SY6€
‘SY6E
‘SY6€
vr6e
vr6E
vv6€
Vr6€E
vv6€
‘eV6e
‘eV6e
¢r6e
¢v6Ee
¢r6e
¢r6e
¢v6e
¢r6e
"TV6E
“Tv6€
‘Tv6€
“Tv6€
Tv6€

———i

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

o (o)} e} N~ (o] Lo <
mw (o)) (o)) (o)) (o)) (o)) (o))



asym_us_avg_correction_mean vs run

pulllD

50

Entries

0.02837

Mean

1.083

Std Dev

|

l

H||||||| |H|||||||||

0III|III|II
_6

2 | ndf 58.67 /49
665.6

X
0

+ 359.7

o
n
[*)]
o
pull

Eib.beicieciesfedododododofobobobobobofenfofododododobofobobobobofeofoaododododofofofofoboboioided.d.d.

___________—____ 111 INNNNAN]
) o~ - o o o

-3



270

260

250

240

230

asym_us_avg_correction_rms vs run

X2 [ ndf

p0

1083 / 49
254.7 +0.2544

OOOOOOOOOOOOOOOOOOOOOOOO Nt woT Mmoo Tamgtmo T ams

doddda A AN I I F DG BTGB IGGENENNNGDLBFFG BTG BGAS DRSS
vvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvv




50
1.071

pulllD

Mean  -0.02353
8

Entries
Std Dev

Ll

0III|III|I
_6

10
8
6
4
2

50
79.01
39.59

+ 384.8
pull

57.33/49

—-866.8

X2 [ ndf
pO

asym_us_avg_mean vs run

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

0 ‘Tvee _._._______._._._. ...............

~




290

285

280

275

270

265

260

255

250

asym_us_avg_rms vs run

X2 [ ndf
p0

818.7 /49
272.5 +0.2721

' IIII|IIII|IIII|IIII|IIII|IIII|II::|__|JL‘II|IIII|II

mmmmmmmmm




us_dd_mean vs run

reg_asym

pulllD

50

Entries

-0.000838

Mean

1127

Std Dev

0III|III|III|III|III III|III|III

63.5/49

-126.2

X2 [ ndf
pO

..................

L . L I B
o 0 ~N
-
© Bag
S
— 0968 (5| e Boeeeieeeeeonee]
+| 0S6E |2

Fo——

———
_________

-1000

—2000

-3000

-4000

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o




o L0
< N
- O
10 <
— O -
N~ 4 -
™~ ©
6. ——
o @
9 @
c|o ° ¢
I I ®
r/
0Nl O
n °
=
_ ———]
M o
_
7))
Hu ——
_ °
3 .
——i
% °
_
(@)} .
L °
°
°
°
. —
o
®
®
| | 1 | |
o) < ™M N b, o
o o o o o o

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E
‘Ov6E

W

‘Ov6E
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
‘Tv6€

‘TY6€

Tv6E



50
0.01013
0.8993

pulllD

Entries
Mean
Std Dev

PR ISR S T T AN TN TN T T AN T TN T N T T [N T TN ST S YT T S S [N T S T [ T T W T [N T W
[=) © ~ © [t} < ™ o~ —

oLLLL
-8

26.21
25.41

40.45/ 49
+* 725

1.29

X2 / ndf

us_dd_correction_mean vs run

asym_

o

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

o o
o o
o o
o o
— —

-5000
-10000
-15000



us_dd_correction_rms vs run

asym_

4755 /49
512.3 £ 0.5127

X2 [ ndf
pO

'}‘}{'%#
RER

NS EEEE
#*H*iﬁ

SUFLNF
bty

440

¥ "'0S6€
€ '056¢€
¢ '056¢€
T '0S6€
0 '0S6€
S '6V6€
¥ '6v6¢€
€ '6v6¢€
¢ '6V6€
T '6v6€
0 '6v6€
¥ '8¥6¢€
€ '8v6¢
¢ '8v6€
T '8v6€
0 '8v6€
v "Lv6E
€ 'LVv6E
¢ 'LVv6E
T 'Lv6E
0 'Lv6E
S '9v6€
v "9vee
€ '9r6¢€
£ ¢
0 '9v6¢€
v "Sv6e
€ 'Sv6e
¢ 'Sv6E
T 'G¥6€
0 'Sv6€
v vvee
€ 'vree
¢ 'vv6e
T 'vv6€
0 'vv6€
T '€v6e
0 'Evee
G Cv6e
¥ Zv6E
€ 'Cr6e
¢ 'Cv6e
T '¢v6e
0 2vee
v Tv6e
€ 'Tv6e
¢ 'Tv6e
T 'Tv6€
0 'Tv6e



50
0.9296

pulllD

Mean -0.005544

Entries
Std Dev

H

10
8
6

737

s

43.21 /49

-170.9

X2 / ndf
pO

us dd mean vs run

asym

15000
10000

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

OIII|III|III III|II

50

-5.585
22.65




560

540

520

500

480

460

asym_us_dd_rmsvs run

X2 / ndf 4418 | 49

po 520.9 £ 0.5211

- !

— tt, b ¢

: IRRRRERRE S LR
- BS R EE AR TR

: * BEE:
B I

__'}H{'

4 }

LR

IR



50

0.02144

pulllD

Std Dev  0.9749

Entries
Mean

:

|

oLLLL
-8

(o)) oo} ~ © wn < ™ ~N —

47.54 1 49

X2 [ ndf

+ 140.7
pull

reg_asym_ds_avg_mean vs run

N
e
e -
X L1 Deee ]
o | s evee -
o ‘| v evee -
N | € ev6E .
I i |z evee .
C|T evee -
i 0 ev6E .
V| v 'ev6e -
i | € av6E -
' |z svee .
o | T "8veE .
% | o ‘sv6e .
V| v oivee =
- | € Zvee =
: i | 2 -zves 3
: s |t Lvee =
: t | o ivee ]
: O -T2 H SLREETERERETAEEES BERD i
: o | ¥ covee =
: i€ oveE  freeeeroe--ei-- =
: D | E e .
: | 0 ‘9vee .
: Slvoswee il .
: i | € svee .
: O I A=T7-I O SORN SORY el .
: V| T ravee i
: ;| 0 'Sv6E
: L 4 R IETET TE S
: Ve YreE bt -
: V| 2 vvee
: | T PPEE  peereireeiiinaaiiibenn
: ‘| o ‘vvee
: DT er6e
: ‘| o evee
: O A< N EEREEEEE RS S -
: V| ¥ oevee .
! ' | e evee .
: | 2 ‘evee =
: N R r7- NN EETERI ERREPIEE  EEERTED -
: i | o ‘zvee s
: C | v Tvee =
: Dle e - LI
: © | 2 Tvee - -J---- =
: ST CTveE b IR -a
Ly Lo lyo Tvee il il
o R
S 3
o o
~ ¥




89.61 /49
99.67 + 0.0995

X2 [ ndf
p0

reg_asym_ds_avg_rms vs run

100

‘056€
'0S6€
‘096¢€
'0S6¢€
‘056€
‘6V6€
‘676€
‘6V6€
‘6V6€
‘6V6€
‘6V6€
‘8V6€
‘8v6€
‘8V6€
‘8V6€
‘8V6€
'LV6€
'LV6E
'LV6E
'LV6E
WAZGS
‘9v6¢€
‘9r6¢€
‘Ov6€
et
‘9v6€
‘SY6E
‘SV6E
‘SY6€
‘SY6E
‘SY6€
vr6e
vr6E
vv6€
Vr6€E
vv6€
‘eV6e
‘eV6e
¢r6e
¢v6Ee
¢r6e
¢r6e
¢v6e
¢r6e
"TV6E
“Tv6€
‘Tv6€
“Tv6€
Tv6€

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams



asym_ds_avg_correction_mean vs run

pulllD

50
1.09

0.02769

Entries
Mean
Std Dev

|

|

ol

oLLLL

59.5/49

718.2

2 | ndf
0

X
p

+404.9

(o)) o] ~ © wn <

L0000 -

o

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

N

pull

-




310

300

290

280

270

260

asym_ds_avg_correction_rms vs

run

X2 [ ndf

p0

906.6 / 49
286.7 + 0.2863

OOOOOOOOOOOOOOOOOOOOOOOO TNt wmwoTanmtoTamt o

ddddda NN NN NG FIFFI G LBB BT GRS GG NN NN NG D 6 odas o
vvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvv

mmmmmmmmmm

05305332333
mmmmmmmmmm




asym_ds_avg_mean vs run

pulllD

50

Entries

Mean -0.02043

1.051

Std Dev

H.Iu.lu.

|

|

OIII|III|II

55.29 /49

-910

X2 / ndf

+428.8

pO

10

o
n
[*)]
o
pull

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

FI TR K K R N O TR TR T O O O O PO N T8 T O O 0 A A A T T T U A O O O PO O

-3



asym_ds_avg_rms vs run

X2 /| ndf 717.9/ 49
p0O 303.6 + 0.3032

320

310“ $ % % $ % % !

300 %
290 '} } %
280 {‘

oooooooooooooooooooo Nt mwoTanmtoTaNmtoTaNmgtwo T ms

¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢



ds_dd_mean vs run

reg_asym

pulllD

50

Entries

-0.007831

Mean

1.093

Std Dev

|

;

|

OIII|III|I

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

S 1
A
™
< [ ;
™~ H :
B ™~ |- :
Q| : :
©| i :
- g
I :
] . .
o : :
c : :
~ : :
oa O T
< Qaf T
[l _
o [=) o
g g & E§ 8 8 &
5 8 3 T8 8§ F

pull




o I~
< ™M
=S
S 2 .
< © ° :
O© 4]
B .
<
o
C|%s . ¢
mn
Nla O .
VVAp
)
&
S @
_ ®
@
M .
_ °
7)) P
J”u L 2
_
3 :
7] °
a_ °
w .
o @
@
@
@
L
——
L
@
Ll T _
~ © ) < ™ N
o > o o o) o

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

SyeE

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
‘Tv6€

‘TY6€

Tv6E



pulllD

2 © 0
Q@
© & 2
2 124
8 ° ©
S
>
@
8 < a
€ [ =
i = [2) ©

oLLLL
-8

(o)) oo} ~ © wn < ™ ~N —

40.19/49

X2 / ndf

50
25.31
26.86

o
n
[*)]
o
pull

+707.1

-15.4

0
[ ]

P

ds_dd_correction_mean vs run

asym_

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

-5000
-10000
-15000



ds_dd_correction_rms vs run

asym_

o L
¥ o
~~
Y+ gl
—e—
Qo
o)) —e—
o
S .
—e—
—e—
Y —@—
—e—
2 .-
——
~~
SIS
< .
—e—
—e—
—e—
—o—
—e—
—e—
—e—
—e—
—@—
—e—
@
—@—
—o—
—@—
—o—
-
—o—
—@—
—e—
—@—
@
—o—
o~
o
o
o
o~
—e—
@
—e—
e
—o—
AN B A AR B R
o o o o o o
3 ~ S @ ) <
0 o) g < < <

¥ "'0S6€
€ '056¢€
¢ '056¢€
T '0S6€
0 '0S6€
S '6V6€
¥ '6v6¢€
€ '6v6¢€
¢ '6V6€
T '6v6€
0 '6v6€
¥ '8¥6¢€
€ '8v6¢
¢ '8v6€
T '8v6€
0 '8v6€
v "Lv6E
€ 'LVv6E
¢ 'LVv6E
T 'Lv6E
0 'Lv6E
S '9v6€
v "9vee
€ '9r6¢€
£ ¢
0 '9v6¢€
v "Sv6e
€ 'Sv6e
¢ 'Sv6E
T 'G¥6€
0 'Sv6€
v vvee
€ 'vree
¢ 'vv6e
T 'vv6€
0 'vv6€
T '€v6e
0 'Evee
G Cv6e
¥ Zv6E
€ 'Cr6e
¢ 'Cv6e
T '¢v6e
0 2vee
v Tv6e
€ 'Tv6e
¢ 'Tv6e
T 'Tv6€
0 'Tv6e



15000

10000

5000

-5000

-10000

-15000

asym_ds_dd_mean vs run

X2 [ ndf
pO

43.65 /49
-222.9+£719.8

50
-39.01
58.58

10

pulllD

Entries 50

Mean -0.005326

Std Dev  0.9344

-8

-6

-4

||[

-2

0

2

4

6 8




560

540

520

500

480

460

440

asym_ds _dd_rmsvs run

x2 / ndf 4560 / 49

po 508.7 = 0.509

¢
bhaat
IR RRR R R LR
bt gttt ¢
pET TR

'I|III’_.|_‘III|III|III|III|III|



usl_mean vs run

reg_asym

pulllD

50

Entries

Mean  0.008679

1.18

Std Dev

oLLLL

69.68 / 49
-337.2

X2 [ ndf
pO

+192.6

[ee]

~

©

Te)

< ™ o -

o
n
[*)]
o
pull

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

6000

..............

..............




98.4 /49
136.4 +0.1362

X2 [ ndf
p0

_usl_rmsvs run

reg_asym

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

‘056€
'0S6€
‘096¢€
'0S6¢€
‘056€
‘6V6€
‘676€
‘6V6€
‘6V6€
‘6V6€
‘6V6€
‘8V6€
‘8v6€
‘8V6€
‘8V6€
‘8V6€
'LV6€
'LV6E
'LV6E
'LV6E
WAZGS
‘9v6¢€
‘9r6¢€
‘Ov6€
6
‘9v6€
‘SY6E
‘SV6E
‘SY6€
‘SY6E
‘SY6€
vr6e
7v6€
vv6€
Vr6€E
vv6€
‘eV6e
‘eV6e
¢r6e
¢v6Ee
¢r6e
¢r6e
¢v6e
¢r6e
"TV6E
“Tv6€
‘Tv6€
“Tv6€
Tv6€



20000

15000

10000

5000

-5000

-10000

-15000

—-20000

asym_usl_correction_mean vs run

x2 | ndf 49.27 /1 49
pO 660.9 £ 872.1

o o anmtwoTo"anmto TamtoNmstwo TamtoTamto T st wo v
Jad 'r\igwmr\immgégvéém@m’ﬁmo’%w’o’or\';l\r\'r\oogoo'cooooagcicioicio'godo
5 P S A D B o s s s i S S S s e A s A g s B s s g e P T BT ]
) APDIDD D mmmmmmmmmmmgg;mcnmmmmmmm DIV NNNARRD DD
[ R OO OHNNNTOPOHHDHPOHOHOHN I OHOOMHPOHNNNTHOOOHNOHOHOHOHOHNPM OO

Bobolecleolocloddodododod 4 ko)L

50
42.45
13.33

oleclododododobobobobobobololoclodododododobobeobobobobololedodod.

pulllD

Entries 50

10 Mean  0.01959

- Std Dev  0.9925

0:|||||||||H| Lol b b

-8 -6 -4 -2 0 2 4 6 8




asym_usl_correction_rms vs run

- X2 [ ndf 2333 /49
B {'%'} PO 617 + 0.6167
- % e SENE
640(— $ H ¢ ¢ ¢ ¢ | %
: AR %
620/ $ +§ %
: | Pt
i b !
580i *
. ¢
5602_% tyH

¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢



50
1.021

pulllD

Mean -0.01274
8

Std Dev

X

Entries

oLLLL
-8

PO IS S T T AN TN T T AT T TN T N YN T S N TN T T S TN T T S [N T T T Y [N T T T [N T S W
[=) © ~ © [t} < ™ o~ —

+893.3
pull

52.16 /49

-1052

2 | ndf

X
pO

usl_mean vs run

asym_

1 Tree | m
L t e

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

_ 111
o
o
o
o

20000
15000
10000

o
o
o
Te]
n_/_

-5000
-10000
-15000
—-20000



asym_usl_rms vs run

x2 | ndf 2101/ 49
PO 632.1+ 0.6317

680

660

640

620

580

600 :Jf $

560

¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢



usr_mean vs run

reg_asym

pulllD

50

Entries

0.01017

Mean

0.9798

Std Dev

48.01/49

2 [ ndf

X

1
0

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o




54.39 /49

0.131

‘0G6€
‘056€
‘0S6¢€
'‘056€
‘0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6¢E
‘8¥6€
‘876€
‘8¥6€
‘8¥6€
‘876€
PAZIS

+

131.2

X2 | ndf
pO

usSr_rms vs run

reg_asym

'LV6E
'LV6E
'LV6E
WAZGS
‘9v6¢€
‘9r6¢€
‘Ov6€
et
‘9v6€
‘SY6E
‘SV6E
‘SY6€
‘SY6E
‘SY6€
vr6e
7v6€
vv6€
Vr6€E
vv6€
‘eV6e
‘eV6e
¢r6e
¢v6Ee
¢r6e
¢r6e
¢v6e
¢r6e
"TV6E
“Tv6€
‘Tv6€
“Tv6€
Tv6€

—

_‘.

[ X J
ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

Y A I __ * LI} | N A A Y I

__
<t ™ o b, o o 0]
™M ™M ™M ™ 1) N N
— — — — — — —



mean vs run

usr_correction

asym_

pulllD

50

Entries

Mean  0.006701

0.8641

Std Dev

|

|

OIII|III|III

37.34/49
+743.2

620.5

2 | ndf

X
pO

o
n
[*)]
o
pull

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

20000

...............




asym_usr_correction_rms vs run

ool X2 I ndf 4951 / 49
- p0O 525.1+ 0.5255
i ! t
560(— # HH} b4
- 2 XX
540(— 44 {'H{. ¢4 {‘
- ¢
520 —
500 —
B ¢
4801 1¢
74, 454
R TALLA
460_—



pulllD

50
0.8788

Mean -0.005954
8

Entries
Std Dev

|

o:
-8

50
160
126.1

38.61/49
+766.4

-686.9

X2 [ ndf
0

p

usr_mean vs run

asym_

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

vt L Lo a b Lo Twee

15000

o

10000
5000
-5000
-10000
-15000
—-20000



asym_usr_rms vs run

X2 /| ndf 4327 | 49
B p(% 541.7 + 0.5419
580_— %
I t ¢
: t g ¥ +++§§+ +%+++++ ++++
560:— H{ '}H{» H’ {' ¢
S0l :
520;
B ¢
SOOE{% {'H H
o0l W

¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢



dsl_mean vs run

reg_asym

pulllD

50

Entries

0.01139

Mean

1.064

Std Dev

HHJ\ Lo,

0III|III|I

56.56 / 49
-390.8

X2 [ ndf

pO

+195.4

6000

4000

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

o
n
[*)]
o
pull




142

140

138

136

134

reg_asym_dsl rms vs run

x2 / ndf 87.47 | 49

po 138.4 +0.1382

III*III|II

Tl %, l[l% 11%%1 TT1+} [ l ! % ll ll[ TIl .
T TR



dsl_correction_mean vs run

asym_

pulllD

50

Entries

0.01898

Mean

Std Dev  0.9885

H[l.h..ﬁn.ln.ln.

OIII|III|II

48.88 /49

693.9

X2 / ndf

+934.7

pO

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

pull

.......

.......

..........

..........

FI AR K R N TR T T O O T T R T T A A T T T S A A O O

-3



asym_dsl_correction_rms vs run

x2 1 ndf 2410/ 49
p0 661.3 + 0.6609

720

700

680

660

640

600

620 ; ¢

¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢



dsl_mean vs run

asym_

pulllD

50

Entries

Mean -0.01242

1.017

Std Dev

|

oLLLL
-8

51.67 /49

-1134

2 | ndf

X
pO

+955.1

(o))

o]

~

©

Te)

<

o N —

47.14
25.42

o
n
[*)]
o
pull

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

—




asym_dsl_rms vs run

x2 1 ndf 2194 / 49
p0 675.8 + 0.6754

740

720

700

680

660

640

620

|III|II’_I._|_‘III|III|III|III|III|

600

¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢



pulllD

50

Entries

0.02125

Mean

1.004

Std Dev

|

|

oLLLL

dsr_mean vs run

reg_asym

50.39/49
-14.01

2 | ndf

X

+192.5

(o))

o]

~ © wn < ™ N -

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

o

o

: : —

H H —

H —_——

: :

m :

: L

m ]

: :

: — @]

: ]

: _. -

N ——

: —

: —_——

; ®
i _ T T | L1 ;1 |0 Tvee
s 8 ° & ¢®
: : 3




dsr_rms vs run

reg_asym

—i
2 o
- M
—
ﬂA(-UO. — e — -
oo 0 .
Lo n<~ °
- e
% o
— ¢ -
— ®
@
©
c .
~—~ L
o O ® -
< O
L
L 2
L 2
——i
L
L 2
L
@
. ﬁ
@
o
—
L 2
L
L
——
L
L 2
L
L
@
@
— i
4
L 4
| | .
L | i b _
o o)) 0 N~ © T9) < ™
< %) 1) ™ ™M ™M ™ ™
—i —i — — —i —i — —

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

SyeE

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
‘Tv6€

TY6E

Tv6E



15000

10000

5000

-5000

—-10000

asym_dsr_correction_mean vs run

X2 / ndf 38.28/ 49
po 684.1+ 676.7

50
68.71
14.28

10

pulllD

Entries 50

Mean 0.01059

Std Dev  0.8749

-8

o:||||||||||| |||||||T‘|||||||I|||

6 4 =2 0 2 4 6 8



asym_dsr_correction_rms vs run

] ¥2 | ndf 4547 | 49
B p0 478.2 £ 0.4785
520— !
500|— $ ¢
- ? %i 154
: THLTRL
480 | }
460:—
B ¢
440
B
i
420|—



asym_dsr_mean vs run

10000

5000

-5000
—-10000

-15000

—-20000

X2 / ndf
pO

38.24 /49
—-673.5+ 704

50
171.6
140.7

pulllD
10—
Entries 50
L Mean -0.007159
Std Dev 0.8745
sk
6_ L
-
2_
0 III|III|III|III|II |III|III|III

-8

6 4 2

0

2 4 6 8



asym_dsr_rms vs run

- X2 [ ndf 3831/49
- p0 497.7 £ 0.4978
540_— T %
- ¢
520|— + Hd + HH{?% H
B o +§{,+ i1
soo] H{ ¢
4805—
B ¢
460 {.
SRUXH
440 —

¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢



g_mean Vs run

left_av

reg_asym

pulllD

50

Entries

Mean 0.01021

Std Dev  1.126

[ee]

63.39/49

-364

X2 / ndf

pO

Te)

<

[32]

+190.9

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

6000

-6000

pull

oLLLL
-8

-

.............

.............

-

-+

AT A T T O A O O T T T O O A A O O O A IO A A

™ o~

1:mo :T_:%ﬁ

1
o
i



reg_asym_left avg_rms vs run

95.04 / 49

X2 / ndf

LO
™
—
O ——
——
+I
——
(Q\| ————
Ty SN AP
™M T
——
— — e
— e —
——
——
——
—
—
o —e—
o ————
——+t
—————
—— ————
— —
——i
——
——
——
——
—
———
——
—e——
—e—
————
L ——
——
——H
———
——
——
———
——
—
——
——
——
——t
——i
—o————
|| 1

¥ '0S6€
€ '0S6¢€
¢ '056¢€
T '0S6€
0 '0S6€
S '6¥6€
¥ '6v6E
€ '6v6€
¢ '6V6E€
T '6¥6€
0 ‘6v6¢€
¥ '8¥6E
€ '8¥6¢
¢ '8¥6E
T '8v6€
0 '8¥6E
v 'LV6E
€ 'Lv6E
¢ 'Lv6E
T 'Lv6E
0 "L¥v6E
S '9v6€
¥ "9v6E
€ 'ov6€
£ -6
0 '9v6€
¥ 'SP6e
€ 'G¥6E
¢ 'SY6E
T 'Sv6e
0 'Sv6€
v vv6ee
€ 'vree
¢ ‘vvee
T 'vv6e
0 'vv6e
T '€v6e
0 'evee
G ¢vee
¥ ¢r6e
€ ¢vee
¢ ¢vee
T ¢vee
0 ¢v6e
v "Tv6E
€ 'Tvee
¢ 'Iv6e
T 'TveE
0 'Tvee

130



25000

20000

15000

10000

5000

-5000

-10000

-15000

—-20000

asym_left_avg_correction_mean vs run

x2 | ndf 49.07 / 49
pO 677.4 £903.4

o anmtoamtwoToTamto Tamto N mtwo Tamt o anmto T ams wo s
dgdd dadaNNN QI IITWRWY md%w’o’or\ GNNN SR0 BB RIS IS S
B R S s S S N s B S S A B s S S i S S B i B S N g S s S S s s e P JYo Yo]
()] mcncnmmcnmmc)oa mmmmmmmmmmm%;mcnmmmmmmm mmoammcummmmmmmoa
NOmOHOHOHPHONHOHOHNOMm |mmmom |mmmm mmmm amMmOPOmmHOm MM MmMtImmm

50
42.51
13.72

hababeabegleale o dadadodotobebobababoleabedodadododadoboboboabobobe by e dedodadobolababobob by adagdedod

pulllD

12

10

0:|||||||||H|’T|||||||—‘|||||||||||

Entries 50

Mean 0.01928

Std Dev  0.9904

-8

-6 -4 -2 0 2 4 6 8



asym_left avg_correction_rms vs run

x2 | ndf 2372/ 49
PO 639.1+ 0.6388

700

680

660

640

620

600

580

III|III’_I_._I‘II|III|III|III|III|

¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢



pulllD

@ I
3 I 3
< 3
a =
W, oo}
>
@
8 < a
€ [ =
i = [2) ©

Hu

oLLLL
-8

PO IS S T T AN TN T T AT T TN T N YN T S N TN T T S TN T T S [N T T T Y [N T T T [N T S W
[=) © ~ © [t} < ™ o~ —

51.9/49

2 | ndf

X
pO

o
n
[*)]
o
pull

.............

+923.5

-1093

g_mean vs run

asym_left_av

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o




asym_left avg_rms vs run

x2 / ndf 2156 / 49
PO 653.4 + 0.653

700

680

660

640

600

620 % ¢

580

¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢



left dd_mean vs run

reg_asym

pulllD

50

Entries

-0.004757

Mean

1.019

Std Dev

|

oLLLL
-8

[ee]

51.89/49
25.2

X2 / ndf

+ 34.67

pO

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

N

-

pull

.......

.........




left dd _rms vs run

reg_asym

76.64 /49

x? [ ndf
pO

0.02452

+

24.56

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

SyeE

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
‘Tv6€

‘TY6€

Tv6E



pulllD

50
0.9353

Mean -0.009075

Entries
Std Dev

ﬂn.h.d.n

OIII|III|III III|II
-4

49.72
31.77

left_dd_correction_mean vs run

asym_

43.75 149
-17.01+ 32.09

2 | ndf

X
pO

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o




3789 /49
22.69 + 0.02269

x? [ ndf

p0O

left_dd_correction_rms vs run

asym_

¥ "'0S6€
€ '056¢€
¢ '056¢€
T '0S6€
0 '0S6€
S '6V6€
¥ '6v6¢€
€ '6v6¢€
¢ '6V6€
T '6v6€
0 '6v6€
¥ '8¥6¢€
€ '8v6¢
¢ '8v6€
T '8v6€
0 '8v6€
v "Lv6E
€ 'LVv6E
¢ 'LVv6E
T 'Lv6E
0 'Lv6E
S '9v6€
v "9vee
€ '9r6¢€
£ ¢
0 '9v6¢€
v "Sv6e
€ 'Sv6e
¢ 'Sv6E
T 'G¥6€
0 'Sv6€
v vvee
€ 'vree
¢ 'vv6e
T 'vv6€
0 'vv6€
T '€v6e
0 'Evee
G Cv6e
¥ Zv6E
€ 'Cr6e
¢ 'Cv6e
T '¢v6e
0 2vee
v Tv6e
€ 'Tv6e
¢ 'Tv6e
T 'Tv6€
0 'Tv6e



left_dd_mean vs run

asym_

pulllD

50

Entries

0.00558

Mean

1.032

Std Dev

53.28 /49

2 | ndf

X

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

-192.3

218.5

0




606.1 /49
33.53 £ 0.03348

x? [ ndf
pO

l

left dd rms vs run

[

asym_

¥ '0S6€
€ '0S6¢€
‘0S6¢€
'‘056€
‘0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6¢E
‘8¥6€
‘876€
‘8¥6€
‘8¥6€
‘876€
PAZIS
A7
A7
WA
WAZGS
‘Ov6E
‘Ov6E
‘Ov6E
W
‘Ov6E
‘SY6¢E
‘SV6E
‘SV6E
'SV6¢E
‘SV6E
vr6e
vr6E
vr6e
Vr6€E
vr6e
‘EV6E
‘EV6E
K47
¢v6E
RAZ
KA
ev6e
¢v6e
"TV6E
“Tv6E
"TV6E
“TV6E
“Tv6e

oMo aNmtmwoToTamtoTaNmt o Nt mwoTaNmtoTamt o amgtnmo N

32.5

N Lo
™ -
™



reg_asym_right_avg_mean vs run

=

3 2 N

@) g g

a @

— S <]

= >
@

> 2 S a

o 2 o <]

L = (7]

.

[ee] ~ © Te)

49.29 /49
-49.14

2 [ ndf

0

X
p

oLLLL

< ™ N -

+185.3

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

d-d-jef-bobobobop

-4
s
v
-7

sqefefeiciopepepe




reg_asym_right avg _rms vs run

—
Lo
-
o O
M 4 _ .
(o
501om A
o
—i
°
um °
c
~ ®
o O .
< O
®
»
°
— ——i
°
°
——
°
.|‘J&|A
*
®
<
——
——1—
°
*
—_—
o
°
»
___ _ _____o____ _ _ _
O <t ™ b, o o 0
™M ™M ™ 3 ™ ™M N N
— — — — — — — —

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

‘0G6€
‘056€
‘0S6¢€
'‘056€

‘0S6€

‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6¢E
‘8¥6€
‘876€
‘8¥6€
‘8¥6€
‘876€
PAZIS
A7
A7
WA

WAZGS

‘Ov6E
‘Ov6E

‘Ov6E

W

‘Ov6E

‘SY6¢E
‘SV6E
‘SV6E
‘SY6E
‘SV6E
vr6e
vr6E
vr6e
Vr6€E

vr6e

‘EV6E
‘EV6E
K47
¢v6E
RAZ
KA
ev6e
¢v6e
"TV6E
“Tv6E
"TV6E
“TV6E

“Tv6e



asym_right_avg_correction_mean vs run

pulllD

50

Entries

0.00856

Mean

Std Dev  0.8684

|

|

OIII|III|III

37.711749
652.3

2 | ndf

X
pO

+708.8

.

—
1 |

20000

15000

10000

5000

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

50
7431
20.57

pull

...............




540

520

500

480

460

440

asym_right_avg_correction_rms vs run

X2 [ ndf
pO

4784 | 49
500.8 + 0.5012

bt
+%{;§f{§ ¢t %% !

TH ¢ *
TRRLR AN

mmmmmmmmm




asym_right_avg_mean vs run

pulllD

Entries

Mean -0.006594

0.8766

Std Dev

P

OIII|III|III

38.42 /49
-679.6

X2 / ndf
pO

733.1

s

_______________________________
o o o o o o o
o o o o o o
o (@} o o o o
o n Yo} o [To] (@]
- ! T o9

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o




asym_right_avg_rms vs run

X2 /| ndf 4131/ 49
B pO 518.2 £ 0.5184
560 — ‘fH + ; }
- LIS IR TLIE.
540 — % % H, Hhﬂ ++H+
- ¢
ol t : oty
5005—
i ¢
480?#* {'H 5
seo0l I

¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢



t dd_mean vs run

reg_asym_righ

o Iy o
) ’ 8 g
3 8

— e °
= >
=] 2 < a
o £ g 3z
i = [2)

J||W

(o)) o] ~ © Te)

48.29 /49
-35.19

X2 [ ndf
0

<

*+ 36.62

p

o

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

oLLLL
-8

o -

pull

.......

...............

_”: [1i _H_W”_”_”

o~ o 1 o



t dd_rmsvs run

reg_asym_righ

o O
<t O
= &
W 0. — +—
~ © * R
O H+ ®
L
% — ]
LO o
9\ ®
Y @
d H—@—
c @
- L
%2 :
X H——
L
L
L 4
L
——
@
@
@
@
@
——
@
L
@
—
@
®
@
——
L
———
@
L
@
@
——i
@
@
| |
L - . ;o_ | | | |
© N N © «Q © N N
© © © N Te) Te) Te) 7o)
(q\] (V] AN AN (V] AN (Q\

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

it

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

‘Ov6E
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
‘Tv6€

TY6E

Tv6E



pulllD

~
3 N X
= >
a 5
W, oo}
>
@
8 < a
€ [ =
i = [2) ©

|HII|III|III

OIII|III|III III|II
-4

50
39.88
15.06

t dd_correction_mean vs run

asym_righ

47.45 149
-33.79

2 | ndf

X
pO

+52.11

-500
-1000

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

b g g

Boi-t

Db i




40

39

38

37

36

35

34

33

asym_right_dd_correction_rms vs run

2037/ 49

x? [ ndf
= % % PO 36.88 + 0.03685
3 bl
: bt %HHHH;
g_ { * %% i * % %
SEEE % *
§H
iy
3 ¢

vvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvv

mmmmmmmm
®®®®®®®®®®
mmmmmmmmmm




t dd_mean vs run

asym_righ

pulllD

50

Entries

0.002448

Mean

0.9146

Std Dev

K

OIII|III|III|

41.83/49

2 [ ndf

X

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

393.1
376.3

pull




asym_right dd_rms vs run

¥2 | ndf 857.6 / 49

pO 45.14 + 0.04508

II|IIII|Iu.|_t||||||||||||||||||||

¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢



cor usl mean vs run

pulllD

50

Entries

Mean -0.01274

1.021

Std Dev

N

oLLLL

52.16 /49
-1052

2 | ndf

X
pO

+ 893.3

(o))

o]

~

©

Te)

<

— e

20000

15000

10000

_ 111
o
o
o
o

-5000

-10000

-15000

—-20000

™ N -

T v oses |=
+| € '0S6€ a
‘| z osee
' 1 -oseg
‘| o -os6e
i| s évee
‘| v evee
‘| € -6vee
i 2 evee
t[1 evee
‘| o evee
‘| v svee
!| € -svee
‘|z svee
i |1 -svee
| o swee
| v oavee
e zvee
2 ves
P 1 zvee
o zvee
‘| s ovee
‘| v ovee
‘| g ovee
|-
‘o ‘ovee
| v svee
‘| e svee
| 2 avee
‘|1 -svee
‘o svee
v wee
‘| e wree
| 2 wee H
|1 vvee ]
‘o vee ]
t|1 evee ]
‘| o evee ]
i s zvee ]
| v ozvee ]
‘| e zvee ]
Z Tvee .
T ‘Zbbe
0 Zv6e
v Tv6E
€ Tv6e ;
2 Tves
|1 Tvee
[|o Tree
o | )
S
S
g
R




cor_usl _rms vs run

x2 | ndf 2101/ 49
PO 632.1+ 0.6317

680

660

640

620

580

600 :Jf $

560

¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢



cor_usr_mean vs run

pulllD

50

Entries

Mean -0.005954

0.8788

Std Dev

|

38.61/49
-686.9

X2 [ ndf

766.4

s

pO

15000

5000

o

-5000
-10000

-15000
—-20000

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

50
160
126.1

0




COr_USr_rms vs run

X2 /| ndf 4327 | 49
B p(% 541.7 + 0.5419
580_— %
I t ¢
: t g ¥ +++§§+ +%+++++ ++++
560:— H{ '}H{» H’ {' ¢
S0l :
520;
B ¢
SOOE{% {'H H
o0l W

¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢



cor dsl mean vs run

pulllD

50

Entries

Mean -0.01242

1.017

Std Dev

|

oLLLL
-8

51.67 /49

-1134

2 | ndf

X
pO

+955.1

(o))

o]

~

©

Te)

<

o N —

47.14
25.42

o
n
[*)]
o
pull

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

—




cor_dsl _rms vs run

x2 1 ndf 2194 / 49
p0 675.8 + 0.6754

740

720

700

680

660

640

620

|III|II’_I._|_‘III|III|III|III|III|

600

¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢



cor_dsr_mean vs run

50
0.8745

pulllD

Mean -0.007159

Entries
Std Dev

|

OIII|III|III
_6

10
8
6
4

+ 704

38.24 /49

-673.5

X2 / ndf
pO

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

______________________________
o o o o o o o
o o o o o o
o (@} o o (=] o
o n Yo} o To] o
- _ T T

pull

50
171.6
140.7




cor_dsr_rms vs run

- X2 [ ndf 3831/49
- p0 497.7 £ 0.4978
540_— T %
- ¢
520|— + Hd + HH{?% H
B o +§{,+ i1
soo] H{ ¢
4805—
B ¢
460 {.
SRUXH
440 —

¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢



bcm_an_ds_mean vs run

asym_

pulllD

50

Entries

0.002926

Mean

0.4334

Std Dev

9.391/49

x2 [ ndf
pO

+ 174

50.61

6
4
2
0

50
477.4
454.1

—

le

A S~ —

%

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

(| o tree

3000

1
I
o
o
o
i

N, A
o o

-100

—-2000

-3000




bcm_an _ds rms vs run

asym_

7536 / 49
122.8 + 0.123

X2 / ndf

p0O

SyeE

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

‘TY6€

Tv6E



50
0.4322

pulllD
0.005019
Std Dev

Entries
Mean

III|III|III|I
-4

176.6

9.342 /49

73.65

2 | ndf

pO

X

bcm an ds3 mean vs run

asym

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

4
2_
0
-8

pull




bcm_an _ds3 rms vs run

asym_

o O
<t <
- N
o -1
%O
© 4
©
4
AN
—i
—
©
c
~~
o O
< Q
o

SyeE

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

190 —

180 —
170 —
160 —
150 —
140 —
130 —

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

‘TY6€

Tv6E



bcm_an_us_mean vs run

asym_

pulllD

50

Entries

0.00175

Mean

0.4

Std Dev

/|

8.001/49

2 [ ndf

X
pO

-22.85+171.7

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

2
0

pull




bcm_an uS_Irms vs run

asym_

8187 /49
121.1+0.1214

X2 [ ndf

p0O

4L
i

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

o
o
—

‘0G6€
‘056€
‘0S6¢€
'‘056€

‘0S6€

‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6¢E
‘8¥6€
‘876€
‘8¥6€
‘8¥6€
‘876€
PAZIS
A7
A7
WA

WAZGS

‘Ov6E
‘Ov6E

‘Ov6E

W

‘Ov6E

‘SY6¢E
‘SV6E
‘SV6E
‘SY6E
‘SV6E
vr6e
vr6E
vr6e
Vr6€E

vr6e

‘EV6E
‘EV6E
K47
¢v6E
RAZ
KA
ev6e
¢v6e
"TV6E
“Tv6E
"TV6E
“TV6E

“Tv6e



asym_bcm_dg_us_mean vs run

pulllD

50

Entries

Mean -0.002868

0.389

Std Dev

)

7.566 / 49
6.528

2 | ndf

X
pO

186.2

s

-1000

—-2000

-3000

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

4
2
0

pull




asym_bcm_dg_us_rms vs run

o O
<
-~ ™
< o
AN O .
N~
=+ *
o
< ®
— [
™M @
@
i @
@
S @
© ®
c e
~ »
o O Y
< g
[ ]
L
[ ]
L
L
[ J
L
L
@
H@H
+H@H
®
L ]
L
L
L ]
[ ]
[
L
[
[
[ ]
L
[ ]
L
L
L
[
L ]
[ ]
L
®
L ]
__ 111 ___ ____ | 11 ____ ___ ____ | 11 ____ iﬂ_ 111 ___ ____
o o o o o o o o o o
o (@)] (o0] N~ O Lo < o™ AN —i
AN — — — — — — — — —

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

SyeE

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

TY6E

Tv6E



asym_bcm_dg_ds _mean vs run

pulllD

50

Entries

Mean -0.001137

0.3227

Std Dev

{||H|H|h|ﬂ||

III|III|III|I
-4

22

207 1 49

5

2 | ndf

X
pO

8

2+174.

-74

“Fanmto"amtwoToTamto TamtoTRNmMmIno Tamt onmto T amt wo o<

4
2k
0
_8

50
82.57

93.32




ds_rms vs run

asym_bcm_dg

o O
< ™M
- N
A o
™M O
00 ™
_/+_ _o__o_
™ .
°
Q .
™
- o
»
Y— ™
© |
c e
~ L |
o O Y
<X L
°
™
o
™
™
°
°
™
Y
o
@
°
™
o
.
®
°
.
.
™
™
°
°
™
™
™
™
™
°
™
™
»
___ | 1 _ | 1 _ | 1 _ | 1 _ | 11 _ __.1___ | 1 ___ | 11
o o o o o o nU o o
(@)) 0 N~ O L0 < ™ AN —
- @ —=H @ «—=E @ H = @ —=o = @« -

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

‘0G6€
‘056€
‘0S6¢€
'‘056€

‘0S6€

‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6¢E
‘8¥6€
‘876€
‘8¥6€
‘8¥6€
‘876€
PAZIS
A7
A7
WA

WAZGS

‘Ov6E
‘Ov6E

‘Ov6E

W

‘Ov6E

‘SY6¢E
‘SV6E
‘SV6E
‘SY6E
‘SV6E
vr6e
vr6E
vr6e
Vr6€E

vr6e

‘EV6E
‘EV6E
K47
¢v6E
RAZ
KA
ev6e
¢v6e
"TV6E
“Tv6E
"TV6E
“TV6E

“Tv6e



asym_cav4bQ _mean vs run

pulllD

50

Entries

Mean 0.0116

Std Dev 0.9644

|

|
Hzmo

0III|III|II
_6

46.51 /49

1.847

X2 / ndf

+1.641

pO

56.71
61.04

..............

o
n
[*)]
o
pull

................

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

ot Lo Lo [af o e 1l

o o o o o
R




asym_cav4bQ rms vs run

o O
< -
=
N~
(o] 0. O
0 O o @
— 4 oy
] @+
o) ]
— -@-
. @~
— -
@
Y @
o) ol
c @
~—~ T.n_
o O @
T.l_
X O o
@
@~
2
@~
@+
@
@
@~
@
H@H
@
+@H
-@-
@
@
H@H
@
@~
HPH
@
@
@
H@H
@
@~
@+
L4l
T‘L
H@H
@
NRINRERERRERERERRE RRRRA RRRRIRRRRINER] AaaRRR RRRRE
7o) Te) <t To) ™ To) N o} 1 o)
— < — ™ — N — A — o
— — — — —

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

‘0G6€
‘056€
‘0S6¢€
'‘056€
‘0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6¢E
‘8¥6€
‘876€
‘8¥6€
‘8¥6€
‘876€
PAZIS
A7
A7
WA
WAZGS
‘Ov6E
‘Ov6E
‘Ov6E
SVoE
‘Ov6E
‘SY6¢E
‘SV6E
‘SV6E
'SV6¢E
‘SV6E
vr6e
vr6E
vr6e
Vr6€E
vr6e
‘EV6E
‘EV6E
K47
¢v6E
RAZ
KA
ev6e
¢v6e
"TV6E
“Tv6E
"TV6E
“TV6E
“Tv6e



asym_cav4cQ_mean vs run

pulllD

50

Entries

Mean 0.0002174

0.4706

Std Dev

!

-8

22

11.07 /49

41.55

2 | ndf

X
pO

173.2

s

3000

2000

6
4
2
0

50
1265
1257

o
n
[*)]
o
pull

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

:_::w:ﬁ

s s

m:_T_:w:_ﬂ



asym_cav4cQ_rms vs run

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

o) LO
< N
- N
mn
<t O
X H .|
N s
(q\|
AN
- ®
®
Y
© e
c e
~~
o O Y
< O ®
.
P
-
P
e
-
'y
°
™
.
-
.
o
-
P
°
.
°
.
P
P
™
°
°
°
™
NERERNERINNERIRRERIRRRNRRRRRE RN ANNRREN
o o 0 o
® ~ - o
- - — —

‘0G6€
‘056€
‘0S6¢€
'‘056€

‘0S6€

‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

WA

WAZGS
‘Ov6E
‘Ov6E

‘Ov6E

W

‘Ov6E
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

vr6e

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

“TV6E

“Tv6e



asym_cav4dQ _mean vs run

x2 I ndf
0

-0.02541

p

)
v

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

a 3 g %
N ©O
= 5 ° ®
S| ¢ . & -
o | = g = .
w = 4] — ©
JE
———
—
— .
[ - o
; _
1 —_
_|_|Ia
—
— v
||rﬂ
1 1 1 1 -
. I S E . L. T
-
o < 8338
¥ 3
<
© 0s6s  |[=
Y+ 3
o osee |2
<t

_._._._._____H__

o~




asym_cav4dQ_rms vs run

104.5/49

0.8812 + 0.0008797

x2 / ndf

p0O

¥ '0S6€
€ '0S6¢€
‘0S6¢€
'‘056€
‘0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6¢E
‘8¥6€
‘876€
‘8¥6€
‘8¥6€
‘876€
PAZIS
A7
A7
WA
WAZGS
‘Ov6E
‘Ov6E
‘Ov6E
W
‘Ov6E
‘SY6¢E
‘SV6E
‘SV6E
'SV6¢E
‘SV6E
vr6e
vr6E
vr6e
Vr6€E
vr6e
‘EV6E
‘EV6E
K47
¢v6E
RAZ
KA
ev6e
¢v6e
"TV6E
“Tv6E
"TV6E
“TV6E
0 'Tvee

JNmtoTamtwoToTamtoTamtoTNmtmwmoT ANt oTamtoTaNmgtno TN



(=3 = ©
ol °” £ ¢
] 2
— 8 °
= S ]
= >
3 g 5 g ]
o £ 8 3z
i = [2) —
| -
L=
1 | L L e by e by by by T

12.44 | 49

2 | ndf

X
pO

+ 179

-408.9

8
6
4
2

50
1656
1634

0

bcmO0I02_mean vs run

asym_

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

3000

2000

1000




bcmOIl02_rms vs run

asym_

o O
<t ©
- N
0
ROOuO
_/+_
™
o)
AN
—i
—
©
c
~~
o O
<
o
[

SyeE

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

‘TY6€

Tv6E



01WS_mean vs run

asym_bpm2

pulllD

50

Entries

-2.088

Mean

Std Dev  2.625

LIl

5704 / 49
-5.331e+04

/ ndf

XZ

+131.5

p0

1)

¢ otg 0 00 QQQ.Qg’f?“

® 05 q@é

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

0III|III|III

50




asym_bpm2i01WS_rms vs run

o ©
< O
3 8
S S
+ O
3 +
N~
—
] N
NS
(V-
5
c
~—~
o O
< O
@

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

SyeE

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

TY6E

Tv6E



asym_bpmOi0O7WS_mean vs run

pulllD

50

Entries

Mean 0.0001105

0.8435

Std Dev

|

OIII|III|III III|II |III|III|III

35.57/49
141.6

x2 [ ndf
pO

464

+

12

10000

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

pull

1.273e+04
1.272e+04

Mean
Std Dev




asym_bpmOi0O7WS_rms vs run

—i
2 o
/2
o 9
~ O
D 4
N o
o0
(qQ\|
o
Y
©
c
~~
o O
< O

¥ '0S6€
€ '0S6¢€
‘0S6¢€
'‘056€
‘0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6¢E
‘8¥6€
‘876€
‘8¥6€
‘8¥6€
‘876€
PAZIS
A7
A7
WA
WAZGS
‘Ov6E
‘Ov6E
‘Ov6E
W
‘Ov6E
‘SY6¢E
‘SV6E
‘SV6E
'SV6¢E
‘SV6E
vr6e
vr6E
vr6e
Vr6€E
vr6e
‘EV6E
‘EV6E
K47
¢v6E
RAZ
KA
ev6e
¢v6e
"TV6E
“Tv6E
"TV6E
“TV6E
“Tv6e

oMo aNmtmwoToTamtoTaNmt o Nt mwoTaNmtoTamt o amgtnmo N



o > <
) § s g
8 8
s
d s I °
] >
= 8 < 8 ]
o | = g 3z .
i = [2) - ©
1 <
- «
—1 ©
- @
_____________________________Iom
< N m 0 © < N o

1
1

21.28 /49
-339.8

2 [ ndf

X
pO

-186.6
212.1

197.6

s

asym_bpmOI01WS mean vs run

-~
________“___J

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

_________
o o o
o o
o o
o™ N

1000



asym_bpmOI0O1WS_ rms vs run

o I~
<t O
5 9
o .
- O * .
N
6+_ L]
@
Lo >
o
3 .
T
- I
T
Y— ™
© Y
c @
~ 1@
*2 °+
=< °
Y
»
@
@
™
®
™
Y
@
@
o
»
Ty
Y
®
°
o
@
Ty
»
°
I
°
@
@
@
@
o
°
o
™
| | ___ [ __ [ ___ | 1 ___ [ __ | 11 ___ | 1 %J_ ___ | 1 ___
o o o o (@] o
nu (@) 0 N~ O Lo A% oo (q\]
N d «+d «+H «+d @ «=H @ «=H 0+4 H

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

‘0G6€
‘056€
‘0S6¢€
'‘056€

‘0S6€

‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6¢E
‘8¥6€
‘876€
‘8¥6€
‘8¥6€
‘876€
PAZIS
A7
A7
WA

WAZGS

‘Ov6E
‘Ov6E

‘Ov6E

W

‘Ov6E

‘SY6¢E
‘SV6E
‘SV6E
‘SY6E
‘SV6E
vr6e
vr6E
vr6e
Vr6€E

vr6e

‘EV6E
‘EV6E
K47
¢v6E
RAZ
KA
ev6e
¢v6e
"TV6E
“Tv6E
"TV6E
“TV6E

“Tv6e



diff_cav4bX_mean vs run

.64 /49

41
4.157

x2 [ ndf
pO

7.76

+

s g 9
a |’ g 5
4 3
— s  °
= D.V -
21 8 ¢ & -
o | &8 0§ = ]
uw =  » —
I —
1 -]
" R PR TR TR R S TR TR R T S TR I SR SR S
o

50

o
n
[*)]
o
pull
-1.632e+04
1.635e+04

Std Dev

[e]2Xe)
S
()] (=]
™ o™
i :['Entries
| Mean

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

f f f [ ]
T T @ r || 0 Tvee

BOOO [ -+-veeemmnssss s

3000

iR I 08 L B B AT B Bl R

L0 L 8 L A e 0 o o B B 2 T

-0.5
-15

—-1000
—2000
-3000
-4000




o I~
< ©
- <
10 10
P H
O I~
> L0
0 ™M
— N
oo
Y
©
c
~

WZO

S|x<a

%

>

0

&

o

p

fo)

Y

(0]

°

=

o
©
—

X [

@
ovdamtoTaNmgtmwoToTamt o TaNmtoT Nt woTaNmtoTamt o Tamgtmwmo T ams

SyeE

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

‘TY6€

Tv6E



diff_cav4bY_mean vs run

pulllD

50

Entries

0.2045

Mean

Std Dev  1.016

53.72 /49

0.8589

2 [ ndf
0

X
p

3.588

+

2000

1000

OIIIlIIIlIIIl II|II

30.72

139

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o




diff_cav4bY_rms vs run

7.18e+05/ 49
1355 + 2.537

X2 / ndf

p0O

L1l T____

> —o —o

S
o“dam ﬁ'C)F‘OJU)ﬁ'U)C)F‘C>F‘OJW)ﬁ'C>F‘ﬁlﬂ)ﬁ'()“TV(ﬁ tmwoTamtoTNmtoTaAaMmtwo T Nms

40000
30000 —
20000
10000

‘0G6€
‘056€
‘0S6¢€
'‘056€

‘0S6€

‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6¢E
‘8¥6€
‘876€
‘8¥6€
‘8¥6€
‘876€
PAZIS
A7
A7
WA

WAZGS

‘Ov6E
‘Ov6E

‘Ov6E
W

‘Ov6E

‘SY6¢E
‘SV6E
‘SV6E
‘SY6E
‘SV6E
vr6e
vr6E
vr6e
Vr6€E

vr6e

‘EV6E
‘EV6E
K47
¢v6E
RAZ
KA
ev6e
¢v6e
"TV6E
“Tv6E
"TV6E
“TV6E

“Tv6e



o|® §
= - -
w = [2) ||
[
) ]
_|_|||H
NP BRI R BT BT N BN BN B B
(2] o] ~ © Te) < o N — o
— [eNeR Y
wg SSM
~ s
52_|.|.|.|_. ; : :
0+ “ : —————
] o — : :
3% : : —
@ : v ———
<. : ————
e :
o : —
- m : 1
S : o
< : o — —
~ |m|0|m|_- :
,WAW. : : o
— :

diff _cav4cX_mean vs run

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o




diff_cav4cX_rms vs run

o N
<t ©
- N~
< | e
n.w+_ Tou__.o._
Q| e
1_5..0._ —@-
1__“_ TQ..T...
-
— -
|m _.o._..ol
o
~ o
20T‘I_T.I_
< Qo o
o~
-
—o—
-
T‘I_
-
o
-
o
-
@
—o—
o
—o—
—o—
@
o~
—o—
—o—
o

¥ '0S6€
€ '0S6¢€
‘0S6¢€
'‘056€
‘0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6¢E
‘8¥6€
‘876€
‘8¥6€
‘8¥6€
‘876€
PAZIS
A7
A7
WA
WAZGS
‘Ov6E
‘Ov6E
‘Ov6E
W
‘Ov6E
‘SY6¢E
‘SV6E
‘SV6E
'SV6¢E
‘SV6E
vr6e
vr6E
vr6e
Vr6€E
vr6e
‘EV6E
‘EV6E
K47
¢v6E
RAZ
KA
ev6e
¢v6e
"TV6E
“Tv6E
"TV6E
“TV6E
“Tv6e

oMo aNmtmwoToTamtoTaNmt o Nt mwoTaNmtoTamt o amgtnmo N



diff _cav4cY_mean vs run

pulllD

50

Entries

-0.05025

Mean

1.063

Std Dev

|

56.66 / 49

3.906

2 | ndf

0

X
p

2.738

s

OIII|III|III III|

50
34.66
5.68

o
n
[*)]
o
pull

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o




diff_cav4cY_rms vs run

o O
<t M
— O
AN .
Su - .
o0 N -
(90) @
(@))
— e
.
@
— .
@
© @
c o~
~~
o O @
< O o
.
@
-
@
@~
@
@
@
@
@+
.
e
Y
Y
@
Y
@
Y
@
o
@
@
Y
.
o
__ | 1 _ _ _ _ | _ |11 __T*I__ | __ | 1 __
o o o o o o o o o
o o o o o o o o (@]
< ™M N — o o 00 ~ ©
N ol o\ o\ N — — — —

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

‘0G6€
‘056€
‘0S6¢€
'‘056€
‘0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6¢E
‘8¥6€
‘876€
‘8¥6€
‘8¥6€
‘876€
PAZIS
A7
A7
WA
WAZGS
‘Ov6E
‘Ov6E
‘Ov6E
SVoE
‘Ov6E
‘SY6¢E
‘SV6E
‘SV6E
'SV6¢E
‘SV6E
vr6e
vr6E
vr6e
Vr6€E
vr6e
‘EV6E
‘EV6E
K47
¢v6E
RAZ
KA
ev6e
¢v6e
"TV6E
“Tv6E
"TV6E
“TV6E
“Tv6e



diff_cav4dX_mean vs run

pulllD

50

Entries

0.02444

Mean

1.193

Std Dev

|

Hﬂﬁ

olivilii]

71.22 /49
+ 0.01217

/ ndf

XZ

0.004473

p0

i AR
b

N
7

©
7

<
7

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o




diff_cav4dX_rms vs run

97.29/49
8.622 + 0.008608

X2 / ndf
p0O

8.5

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

e

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
‘Tv6€

TY6E

Tv6E



pulllD

50

Entries

-0.08895

Mean

1.049

Std Dev

|

|

H..M..h

diff_cav4dY_mean vs run

55.44 | 49

0.01389 + 0.2263

2 | ndf

X
pO

olivilii]

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o




diff_cav4dY_rms vs run

X?/ ndf 2.172e+05 / 49

p0O

141.9 + 0.16

12000

10000

8000

6000

4000

2000

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoT T aNmtoTamt o Tamgtmo T ams

SyeE

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

TY6E

Tv6E



diff_ bpm4aX_mean vs run

pulllD

50

Entries

0.01182

Mean

0.788

Std Dev

NH

0III|III|III|

31.06/49

X2 / ndf

2.38

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

pull




diff_ bpm4aX_rms vs run

o) ™M
<t 00
- O
< o
D +H| -
O e
™M = -
BM_UL
o
™ o
—i @~
- -
o
= o~
c o~
- -
gl
> .
-
o
o
o
o
o
o
o
o
o
P
-
o
o
.
e
.
o
-
o

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

‘0G6€
‘056€
‘0S6¢€
'‘056€
‘0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6¢E
‘8¥6€
‘876€
‘8¥6€
‘8¥6€
‘876€
PAZIS
A7
A7
WA
WAZGS
‘Ov6E
‘Ov6E
‘Ov6E
SVoE
‘Ov6E
‘SY6¢E
‘SV6E
‘SV6E
'SV6¢E
‘SV6E
vr6e
vr6E
vr6e
Vr6€E
vr6e
‘EV6E
‘EV6E
K47
¢v6E
RAZ
KA
ev6e
¢v6e
"TV6E
“Tv6E
"TV6E
“TV6E
“Tv6e



diff_ bpm4aY_mean vs run

50
1.068

pulllD

Entries
Mean
Std Dev

|

PO IS S T T AN TN T T AT T TN T N YN T S N TN T T S TN T T S [N T T T Y [N T T T [N T S W
[=) © ~ © [t} < ™ o~ —

0

57.11749

2 | ndf

X

11.64

11.03

+
®

13.49

|

1

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o




diff _ bpm4aY_rms vs run

o) 0O

<t O

-

Tl

o H

N~
o0
7I
N

Y

©

c

~~

o O

< Qo
T.I_

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

6500

‘0G6€
‘056€
‘0S6¢€
'‘056€
‘0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6¢E
‘8¥6€
‘876€
‘8¥6€
‘8¥6€
‘876€
PAZIS
A7
A7
WA
WAZGS
‘Ov6E
‘Ov6E
‘Ov6E
SVoE
‘Ov6E
‘SY6¢E
‘SV6E
‘SV6E
'SV6¢E
‘SV6E
vr6e
vr6E
vr6e
Vr6€E
vr6e
‘EV6E
‘EV6E
K47
¢v6E
RAZ
KA
ev6e
¢v6e
"TV6E
“Tv6E
"TV6E
“TV6E
“Tv6e



diff_ bpm4eX mean vs run

al| ® § &
= s
Ll L ,
o i
S M
~
——— . :
@+ : m ; ;
)] : : : :
™ % : : : :
0 : : ———
N : - m :
. - ”
k=) : : . &
c : : :
~ —— :
o O : T
< o :

50
44.66

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

32.58

1
0




diff_ bpm4eX_rms vs run

o ™
<t ©0
- o
o
X =+ .
© < —o—
O e
& —o—
1_T.|_
o) — 8
o| e
) e
| e
Y—
-
2 —e—
~
o —8—
o S| e
< o
o
——
—o—
——
e
——
—o—
—o—
—e—
—o—
@~
—e—
—e—
—o—
—e—
.
—e—
—o—
——
—e—
@
-
-
o
-
—o—
o
o
@
—o—
o
o
N s o NEEE
o o) o o o o
S S S S S S
S T S D S )
2 — — o S o)
— i i — i

¥ "'0S6€
€ '056¢€
¢ '056¢€
T '0S6€
0 '0S6€
S '6V6€
¥ '6v6¢€
€ '6v6¢€
¢ '6V6€
T '6v6€
0 '6v6€
¥ '8¥6¢€
€ '8v6¢
¢ '8v6€
T '8v6€
0 '8v6€
v "Lv6E
€ 'LVv6E
¢ 'LVv6E
T 'Lv6E
0 'Lv6E
S '9v6€
v "9vee
€ '9r6¢€
£ ¢
0 '9v6¢€
v "Sv6e
€ 'Sv6e
¢ 'Sv6E
T 'G¥6€
0 'Sv6€
v vvee
€ 'vree
¢ 'vv6e
T 'vv6€
0 'vv6€
T '€v6e
0 'Evee
G Cv6e
¥ Zv6E
€ 'Cr6e
¢ 'Cv6e
T '¢v6e
0 2vee
v Tv6e
€ 'Tv6e
¢ 'Tv6e
T 'Tv6€
0 'Tv6e



diff_ bpm4eY_mean vs run

54.3149

9.755

2 | ndf

0

X
p

6.605

s

10

o o g
o|® § &
=
3
— e
= N —
5 ¢ < 8 -
o ([ & 8 = .
uw =  » —
] —
[
l 4 | | I T T I S TR S R T T S
o

50
9.75
5.376

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

1111 |y g0 TreE

o
n
T

S
T




diff_ bpm4eY_rms vs run

6826 / 49
4663 + 4.671

X2 | ndf
pO

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

‘0G6€
‘056€
‘0S6¢€
'‘056€
‘0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6¢E
‘8¥6€
‘876€
‘8¥6€
‘8¥6€
‘876€
PAZIS
A7
A7
WA
WAZGS
‘Ov6E
‘Ov6E
‘Ov6E
SVoE
‘Ov6E
‘SY6¢E
‘SV6E
‘SV6E
'SV6¢E
‘SV6E
vr6e
vr6E
vr6e
Vr6€E
vr6e
‘EV6E
‘EV6E
K47
¢v6E
RAZ
KA
ev6e
¢v6e
"TV6E
“Tv6E
"TV6E
“TV6E
“Tv6e



pulllD

2 E @
3
© 8 Q@
8 -3
8 ° ©
S
>
@
8 < a
€ [ =
i = [2) ©

|

|

l

OIII|III|III
_6

14
12
10+

8

6

4

2

diff_ bpm4acX_mean vs run

37.44 149

4971

2 | ndf
0

X
p

867.5
843

+3.172

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

100 e ————

e T R B 0 0 ol o o 0 o B B o B il e e

R M




diff_bpm4acX_rms vs run

_ X2 [ ndf 4652 / 49
2400: pOT 2242 + 2.243

5 + SUTARRERRE

- bttt bt ! }
2300~ }+{'+ H+++++ ++++++
2200:—
21003— b

- '}* t ¢
2000}% {'} ;4

¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢



diff_ bpm4acY_mean vs run

pulllD

50

Entries

-0.04506

Mean

1.048

Std Dev

M

|

OIII|III|III

11.27

55.05/49
s

10.88

2 | ndf

X
pO

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o




diff_ bpm4acY_rms vs run

o O
<t O
- O
>N -
2+_ hd .
N~ <t -
LO @
ok
.
™~ @
.
— @
@
= .
c .
-~ -
3 . -
> e
.
@
8-
.
@
@
@
.
.
vy
@
r@H
.
Yy
@
@
@
@
Y
@
Py
@
@
@
@
@
Y
@
-
L 11 [ | [ | | [ _IJI L 11 _ L 11
(@) o o (@) (@) o
o o o o o o
Kg] (@) L0 o Tp] o
o > 0 @ N ~

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

‘0G6€
‘056€
‘0S6¢€
'‘056€
‘0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6¢E
‘8¥6€
‘876€
‘8¥6€
‘8¥6€
‘876€
PAZIS
A7
A7
WA
WAZGS
‘Ov6E
‘Ov6E
‘Ov6E
SVoE
‘Ov6E
‘SY6¢E
‘SV6E
‘SV6E
'SV6¢E
‘SV6E
vr6e
vr6E
vr6e
Vr6€E
vr6e
‘EV6E
‘EV6E
K47
¢v6E
RAZ
KA
ev6e
¢v6e
"TV6E
“Tv6E
"TV6E
“TV6E
“Tv6e



diff_ bpm4ecX_mean vs run

pulllD

50

Entries

0.006953

Mean

0.8755

Std Dev

H

38.33/49

3.43

X2 / ndf

15.15

s

pO

o
o
T

o
(=]
o

o
o
v

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

OIII|III|III




diff_bpm4ecX_rms vs run

—
I N
-~ O
o
O 4 —@—
o)) ——
n Y —e—
O | e~
+ ——
D e
™~ ——
o —o—
— —e—
—o—
—o—
S .
c —@—
—o—
~~
g -
< o
——
—e—
—o—
——
o
——
—o—
—o—
—o—
—e—
o
—o—
——
—o—
—e—
.
o
——
—e—
—o—
o
o
-
—o—
o
o
o
o
o~
o
e
o
A A T ) A __T4l__
o (@) o o o (@)
o (@) () o o (@)
L0 o Lo (@) Lo (@)
— — o o (o)) (o)}
— — — —

¥ "'0S6€
€ '056¢€
¢ '056¢€
T '0S6€
0 '0S6€
S '6V6€
¥ '6v6¢€
€ '6v6¢€
¢ '6V6€
T '6v6€
0 '6v6€
¥ '8¥6¢€
€ '8v6¢
¢ '8v6€
T '8v6€
0 '8v6€
v "Lv6E
€ 'LVv6E
¢ 'LVv6E
T 'Lv6E
0 'Lv6E
S '9v6€
v "9vee
€ '9r6¢€
£ ¢
0 '9v6¢€
v "Sv6e
€ 'Sv6e
¢ 'Sv6E
T 'G¥6€
0 'Sv6€
v vvee
€ 'vree
¢ 'vv6e
T 'vv6€
0 'vv6€
T '€v6e
0 'Evee
G Cv6e
¥ Zv6E
€ 'Cr6e
¢ 'Cv6e
T '¢v6e
0 2vee
v Tv6e
€ 'Tv6e
¢ 'Tv6e
T 'Tv6€
0 'Tv6e



diff_ bpm4ecY_mean vs run

pulllD

50

Entries

Mean  -0.05042

1.071

Std Dev

1

OIII|III|III III|II

57.53 /49

9.39

0

X2 / ndf

10

+ 6.908

o
o
T

(=]
0
T

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

pull




diff_ bpm4ecY_rms vs run

o L
< 00
- 00
SN o
9+_ hd @~
I O -
M~
8 @~
~ -
— .
@~
= e
c o
~~ —@—
Y N -
> o
o
@
-
@
@
@
@
@
@
@
Q-
2 2!
o~
@
@A
@
.
@
-
H@H
@+
@+
@
@
@
@
@
@
@~
-@-
L _ || NERERRLE FadBNREE
O o o o o o o o o
S & ©o & o & & S &
®» ©® I &« O ® & S
O ©® W 1 b I < < <

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

‘0G6€
‘056€
‘0S6¢€
'‘056€
‘0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6¢E
‘8¥6€
‘876€
‘8¥6€
‘8¥6€
‘876€
PAZIS
A7
A7
WA
WAZGS
‘Ov6E
‘Ov6E
‘Ov6E
W
‘Ov6E
‘SY6¢E
‘SV6E
‘SV6E
'SV6¢E
‘SV6E
vr6e
vr6E
vr6e
Vr6€E
vr6e
‘EV6E
‘EV6E
K47
¢v6E
RAZ
KA
ev6e
¢v6e
"TV6E
“Tv6E
"TV6E
“TV6E
“Tv6e



diff_ bpm1X mean vs run

50
0.9414

pulllD

Mean -0.007363

Entries
Std Dev

|

|

(o)) oo} ~ © wn < ™ ~N —

-10.88
48.89

0

13.44

o
n
[*)]
o
pull

44.31 /49
s

1.508

X2 / ndf
pO

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

T Lo g Lo Tree

bbb dodododiobob et b b bbbt dededadaiaiob b bbb o dededededoiaib bbb iodedadod

o
o
D

=300




diff_ bpm1X_ rms vs run

385.2 /49
9521+ 9.506

X2 | ndf
pO

10000

9800

9200



diff_ bpml1lY_ mean vs run

50
-0.03576
1.045

pulllD

Entries
Mean
Std Dev

[ 1
- «
_________________________________________lom
[oe] ~ © n <t (32} N — o
o M
o 283
. q
0 N

54.66 / 49
6.427

X2 / ndf
0

P

: . o— : :
|t Lo Lo Lo Lo 0 e
o ) o o o o o
S re) Te) o 0 o
= ¥ ¥ R

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o




diff bpm1Y_rms vs run

(e)MN9p)
<t O
~ N
R_/uRu
7+_
N~ O
(0 0]
(QV|
O
Y
©
c
~~
o O
< O

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

7500

7000

6500

| 4.1_ L1 1
o

600

5500

‘056€
'0S6€
‘096¢€
'0S6¢€
‘056€
‘6V6€
‘676€
‘6V6€
‘6V6€
‘6V6€
‘6V6€
‘8V6€
‘8v6€
‘8V6€
‘8V6€
‘8V6€
'LV6€
'LV6E
A7
'LV6E
WAZGS
‘9v6¢€
‘9r6¢€
‘Ov6€
et
‘9v6€
‘SY6E
‘SV6E
‘SY6€
‘SY6E
‘SY6€
vr6e
vr6E
vv6€
Vr6€E
vv6€
‘eV6e
‘eV6e
¢r6e
¢v6Ee
¢r6e
¢r6e
¢v6e
¢r6e
"TV6E
“Tv6€
"Tv6€
“Tv6€
Tv6€



diff bpm11X mean vs run

pulllD

50

Entries

0.01718

Mean

Std Dev  0.9049

:

OIII|III|III| II|I

10

40.95/ 49

x2 [ ndf
pO

8.22

+

14.17

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

o
n
[*)]
o
pull




1024/ 49
5819 + 5.812

X2 / ndf

p0O

diff bpm11X rms vs run

—@—*h

___ﬁ#1ﬂi

6300 —
6200 |—
6100 —
6000 |—

5900

5800
5700
5600
5500
5400

¥ '0S6€
€ '0S6¢€
¢ '056¢€
T '0S6€
0 '0S6€
S '6¥6€
¥ '6v6E
€ '6v6€
¢ '6V6E€
T '6¥6€
0 ‘6v6¢€
¥ '8¥6E
€ '8¥6¢
¢ '8¥6E
T '8v6€
0 '8¥6E
v 'LV6E
€ 'Lv6E
¢ 'Lv6E
T 'Lv6E
0 "L¥v6E
S '9v6€
¥ "9v6E
€ 'ov6€
£ -6
0 '9v6€
¥ 'SP6e
€ 'G¥6E
¢ 'SY6E
T 'Sv6e
0 'Sv6€
v vv6ee
€ 'vree
¢ ‘vvee
T 'vv6e
0 'vv6e
T '€v6e
0 'evee
G ¢vee
¥ ¢r6e
€ ¢vee
¢ ¢vee
T ¢vee
0 ¢v6e
v "Tv6E
€ 'Tvee
¢ 'Iv6e
T 'TveE
0 'Tvee



diff bpm1lY mean vs run

pulllD

50

Entries

-0.05181

Mean

1.002

Std Dev

’H

|

OIII|III|III

50.33/49
5.885

2 | ndf

0

X
p

+3.377

10

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

o
n
[*)]
o
pull




diff bpm11lY_ rms vs run

4278 | 49
2387 + 2.388

X2 / ndf

p0O

____
o
o
N
N

2300

2100



diff_ bpm12X mean vs run

oLLLL

ol|® & B

= s C
2| ¢ c H
I
P [T T T T A R T T
[oe] ~

o o

< &

=

m ©

Mi

<

¥ 9

<

-

Y—

S

c

~~

~ O

< o

: N :

o o

o
o) o
! —
|

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o




diff_ bpm12X _rms vs run

x2 | ndf 1350 / 49
PO 4388 + 4.383

4700

4600

4500

4400

4300

4200

4100

4000

III|IIII|IIII|IIII|IIII|III|I IIII|IIII|III
. —@—
—@—
—@—
—@—

¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢



diff bpm12Y_ mean vs run

pulllD

50

Entries

—-0.04584

ean

M

0.9886

Std Dev

ﬁ..ﬂ.ﬂ.h..h..

OIII|III|III

48.98 / 49

10.87

2 | ndf

X
pO

+5.238

12

10

N N
________

(@}
—

n

o o o
o
R




difft bpm12Y_rms vs run

x2 / ndf 1738 / 49
PO 3707 + 3.704

4100

4000

3900

3800

3700

3600

3500

3400

III|IIII|IIIII.III|IIII|IIII|IIII|IIII|I
o
—e—
o
——
——

¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢



diff_ bpm14X mean vs run

pulllD

50

Entries

Mean

0

Std Dev

0/49
0 +0.1414

X2 / ndf
po

0

OTTNMIOTANMIWOTOTNMIO TANMIFTOTNMINO ANNTOTNMITOTNMT DO M

o




diff_ bpm14X _rms vs run

0/49
0+0.1414

X2 | ndf
pO

ovamtoTaNmMgtmwoToTamt o TaNmtoT Nt WO T aNmtoTAaMmt O Aamgtmo T ams

0

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E
‘Ov6E

W

‘Ov6E
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

TY6E

Tv6E



diff_ bpm14Y_ mean vs run

pulllD

50

Entries

Mean

0

Std Dev

0/49
0 +0.1414

X2 / ndf
po

0

OTTNMIOTANMIWOTOTNMIO TANMIFTOTNMINO ANNTOTNMITOTNMT DO M

o




diff bpm14Y_rms vs run

0/49
0+0.1414

X2 | ndf
pO

ovamtoTaNmMgtmwoToTamt o TaNmtoT Nt WO T aNmtoTAaMmt O Aamgtmo T ams

0

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E
‘Ov6E

W

‘Ov6E
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

TY6E

Tv6E



diff_ bpm16X_ mean vs run

pulllD

50

Entries

0.006806

Mean

0.8766

Std Dev

||ﬂ||ﬂ||LT|N|H1|H||H||H

38.43/49

1.953

2 | ndf

X
pO

6.633

s

10

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

95.28
78.85

0




262.1 /49

4698 + 4.69

X2 [ ndf
pO

diff bpm16X_rms vs run

¥ "'0S6€
€ '056¢€
‘096¢€
'0S6¢€
‘056€
‘6V6€
‘676€
‘6V6€
‘6V6€
‘6V6€
‘6V6€
‘8V6€
‘8v6€
‘8V6€
‘8V6€
‘8V6€
'LV6€
'LV6E
'LV6E
'LV6E
WAZGS
‘9v6¢€
‘9r6¢€
‘Ov6€
et
‘9v6€
‘SY6E
‘SV6E
‘SY6€
‘SY6E
‘SY6€
vr6e
vr6E
vv6€
Vr6€E
vv6€
‘eV6e
‘eV6e
¢r6e
¢v6Ee
¢r6e
¢r6e
¢v6e
¢r6e
"TV6E
“Tv6€
‘Tv6€
“Tv6€

Lot b Lo Twee

JNmtoTamtwoToTamtoTamtoTNmtmwmoT ANt oTamtoTaNmgtno TN

4650
4600
4550
4500



diff bpm16Y_ mean vs run

Dmmu
8 =
1 s -
"S W H
al:t § ¢ -
ua = 0 pa—
— .
A . T B
m o~ o
o o 885
< © o9
-~ I~ |
w__n/_
o M
N~
© 5
3
<
o
|
u—
°
c
~~
)
<

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o




diff bpm16Y_rms vs run

4930/ 49
1952 +1.953

X2 / ndf
p0

¢

@
I 111 I

¢

@~

NN aNEENEE

2300

2200

2100

o
o
o
N

1900
1800

1700

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

‘0G6€
‘056€
‘0S6¢€
'‘056€
‘0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6¢E
‘8¥6€
‘876€
‘8¥6€
‘8¥6€
‘876€
PAZIS
A7
A7
WA
WAZGS
‘Ov6E
‘Ov6E
‘Ov6E
SVoE
‘Ov6E
‘SY6¢E
‘SV6E
‘SV6E
'SV6¢E
‘SV6E
vr6e
vr6E
vr6e
Vr6€E
vr6e
‘EV6E
‘EV6E
K47
¢v6E
RAZ
KA
ev6e
¢v6e
"TV6E
“Tv6E
"TV6E
“TV6E
“Tv6e



3000

2000

1000

-1000

—2000

-3000

-0.6

asym_bcm_an_us_bcm_an_ds_agg_avg_mean vs run

X2/ ndf 7.663 /49

L p0 11.9 + 169.6

50
264.8
241.8

pulllD

18-

16

14—

12~

10

Entries 50

Mean 0.00311

Std Dev 0.3915

III|III|III
-8 -6 -4

1l

2 4 6 8



asym_bcm_an_us_bcm_an_ds_agg_avg_rms vs run

o O
<t O
=~ 3
(o) I -
o O
o) [
oo+_ o
© &
. L
(@)} [ J
—i @
[ J
— L
[
S L
© ®
C ®
~ L ]
o O Y
< O i
[ ]
@
L ]
&
®
[ ]
o
L
@
H@H
HH
[ ]
L _
@
|
L ]
[ ]
L ]
|
L
L ]
[ ]
@
[ J
®
®
@
L
L ]
[ ]
@
[ )
L
| ____ [ 11 ____ ____ [ 11 ____ ___ ____ _____?___ ____ ___
o o o o (@) (@) o o o
00 N~ © Lo <t ™ N — o
— — — — — — — — —

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

SyeE

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

TY6E

Tv6E



asym_bcm_an_us_bcm_an_ds_agg_dd_mean vs run

= ? ]
3| ¢ : & -
——— ]
, -
.
n | L | PR TR R T SR S
m < o~ o
o o B33
45 AN
~~
foe)
~ N
M+_
o
¥ o
<
%)
_
Y
s
[
~
o O
< o

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o




_an_ds_agg _dd _rmsvs run

bcm_an_us bcm_an

asym_

6.86e+04 / 49

19.54

x? / ndf
pO

0.02021

+

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

it

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

‘Ov6E
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

‘TY6€

Tv6E



mean vs run

an_ds3_agg_avg

bcm_an_us_bcm

asym_

pulllD

50

Entries

0.004076

Mean

0.3925

Std Dev

| A

705/ 49

7
23.7

X2 / ndf

171

s

pO

10
8
6
ir
0:
-8

183.6
160.9

o
n
[*)]
o
pull

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

o
-
<
()]
™




asym_bcm_an_us bcm_an_ds3 agg_avg _rms vs run

8574/ 49
120.6 +£ 0.1209

X2 [ ndf
pO

_ __J+_ L1 __ L1

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

190 —

OL 1L
i i

‘0G6€
‘056€
‘0S6¢€
'‘056€

‘0S6€

‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6¢E
‘8¥6€
‘876€
‘8¥6€
‘8¥6€
‘876€
PAZIS
A7
A7
WA

WAZGS

‘Ov6E
‘Ov6E

‘Ov6E

W

‘Ov6E

‘SY6¢E
‘SV6E
‘SV6E
‘SY6E
‘SV6E
vr6e
vr6E
vr6e
Vr6€E

vr6e

‘EV6E
‘EV6E
K47
¢v6E
RAZ
KA
ev6e
¢v6e
"TV6E
“Tv6E
"TV6E
“TV6E

“Tv6e



mean vs run

asym_bcm_an_us_bcm_an_ds3_agg_dd

al|® § ¢

= ? ° ]
w = [2] ||

I

| L T TR I S S T
o N o
-

o ™M

< N

~

©

0 +

™ ©

—

Ln

<

]

Y—

o

c

~~

o O

< o

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o




dd_rms vsrun

ds3_agg_:

bcm_an_us bcm_an

asym_

o O
<t O
3 &
4
o ©
m.uo
QL H
o O
N
N~ O
—
Y
©
c
~~
o O
< Q
L
[ ]
@
| L
)
™

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

SyeE

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

‘TY6€

Tv6E



asym_bcm_dg_us_bcm_an_us_agg_avg_mean vs run

pulllD

50

Entries

Mean 0.0002675

0.3744

Std Dev

)

008/ 49

7
27.6

X2 / ndf

177.1

s

pO

3000

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

4
2
0

pull




asym_bcm_dg_us _bcm_an_us_agg_avg_rms vs run

o
<t W0
- N
~ o
© O
S ®
0 +l o
I
) P
°
N .
®
— >
I
Y— .
© ®
c e
~ e
o O ®
< Q. L
°
™
3
™
>
°
°
>
T
Y
@
°
°
™
°
™
°
™
™
I
®
°
°
°
™
>
™
™
°
°
-
°
™
| ___ 11 ____ ___ 11 ___ 11 ____ ___ 11 __ﬁi____ 11 ____
o o o o o o o o o
o)) ® ~ © 0 < ™ N —
— — — — — — — — -

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

SyeE

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

TY6E

Tv6E



mean vs run

asym_bcm_dg_us_bcm_an_us_agg_dd

al|® § &
= L -
3| ¢ : & -
5 S 3 —
_|_‘|I
: T
_ -
[ —_
-
| ! T W S TN N SN TR U SN TR S T_—
m © <t N o
o B33
~~
ol
n ™
Mi
™
NN
-
<
_
Y—
5
[
~
o O
< o

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o




dd_rms vs run

asym_bcm_dg _us _bcm_an _us_agg_

o L0
S ~
38
S o -
¥ o -
L
B+ -
® I~
S © *
— @4
AN v
Y @
S *
-
~ @
o O
< Q
H@H
@A
H@H
@
[ ]
@
HH
@
HH
HH
[ ]
HOH
@
@~
P
P
@
@
@
L L IR GR I
oo © < ~ o
~N ~N N ~N ~

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

‘056€
'0S6€
‘096¢€
'0S6¢€
‘056€
‘6V6€
‘676€
‘6V6€
‘6V6€
‘6V6€
‘6V6€
‘8V6€
‘8v6€
‘8V6€
‘8V6€
‘8V6€
'LV6€
'LV6E
A7
'LV6E
WAZGS
‘9v6¢€
‘9r6¢€
‘Ov6€
6
‘9v6€
‘SY6E
‘SV6E
‘SY6€
‘SY6E
‘SY6€
vr6e
vr6E
vv6€
Vr6€E
vv6€
‘eV6e
‘eV6e
¢r6e
¢v6Ee
¢r6e
¢r6e
¢v6e
¢r6e
"TV6E
“Tv6€
"TV6E
“Tv6€
Tv6€



asym_bcm_dg_us_bcm_an_ds_agg_avg_mean vs run

pulllD

50

Entries

Mean 0.0002675

0.3744

Std Dev

)

008/ 49

7
27.6

X2 / ndf

177.1

s

pO

3000

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

4
2
0

pull




asym_bcm_dg _us _bcm_an_ds_agg_avg_rms vs run

o
<t W0
- N
~ o
© O
S ®
0 +l o
I
) P
°
N .
®
— >
I
Y— .
© ®
c e
~ e
o O ®
< Q. L
°
™
3
™
>
°
°
>
T
Y
@
°
°
™
°
™
°
™
™
I
®
°
°
°
™
>
™
™
°
°
-
°
™
| ___ 11 ____ ___ 11 ___ 11 ____ ___ 11 __ﬁi____ 11 ____
o o o o o o o o o
o)) ® ~ © 0 < ™ N —
— — — — — — — — -

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

SyeE

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

TY6E

Tv6E



mean vs run

asym_bcm_dg_us_bcm_an_ds_agg_dd

al|® § &
= L -
3| ¢ : & -
5 S 3 —
_|_‘|I
: T
_ -
[ —_
-
| ! T W S TN N SN TR U SN TR S T_—
m © <t N o
o B33
~~
ol
n ™
Mi
™
NN
-
<
_
Y—
5
[
~
o O
< o

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o




dd_rms vs run

_ds_agg_

bcm_an

asym_bcm_dg_us

o L0
S ~
38
S o -
¥ o -
L
B+ -
® I~
S © *
— @4
AN v
Y @
S *
-
~ @
o O
< Q
H@H
@A
H@H
@
[ ]
@
HH
@
HH
HH
[ ]
HOH
@
@~
P
P
@
@
@
L L IR GR I
oo © < ~ o
~N ~N N ~N ~

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

‘056€
'0S6€
‘096¢€
'0S6¢€
‘056€
‘6V6€
‘676€
‘6V6€
‘6V6€
‘6V6€
‘6V6€
‘8V6€
‘8v6€
‘8V6€
‘8V6€
‘8V6€
'LV6€
'LV6E
A7
'LV6E
WAZGS
‘9v6¢€
‘9r6¢€
‘Ov6€
6
‘9v6€
‘SY6E
‘SV6E
‘SY6€
‘SY6E
‘SY6€
vr6e
vr6E
vv6€
Vr6€E
vv6€
‘eV6e
‘eV6e
¢r6e
¢v6Ee
¢r6e
¢r6e
¢v6e
¢r6e
"TV6E
“Tv6€
"TV6E
“Tv6€
Tv6€



asym_bcm_dg_ds_bcm_an_ds_agg_avg_mean vs run

2000 +oerererseessen s

1000 (-3 O S o B R

X2 / ndf
pO

6.521 /49
-12.39 £172.1

-1000 (b A H LA

—2000 [

22

20

18

16

14

12

10

pulllD

Entries 50

Mean  0.001102

Std Dev 0.3611

-8 -6 -4 -2 0

2 4 6 8



asym_bcm_dg_ds _bcm_an_ds_agg_avg _rms vs run

8004 / 49
121.4 + 0.1217

X2 [ ndf
pO

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

SyeE

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

TY6E

Tv6E



asym_bcm_dg_ds_bcm_an_ds_agg_dd_mean vs run

39.34/49
-69.56

2 [ ndf
0

X
p

26.18

s

ol ® i &
3  ©
g
d s -
= >
3| ¢ s 8 ]
o | &8 0§ =
ua = D —
I —
I T BT ST B
o

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o




dd_rms vs run

_an_ds_agg_

ds_bcm_an

asym_bcm_dg_

—
2 o
/8
—
MO
+0
(D]
6+_
o .
n M
N * -
— P
Y
oS °
c °
~ [ )
o O °
< Q o
uo
@
@
]
[ ]
L]
@
HH
@
[ ]
@
@
[ ]
@
@
@
HH
[
[ ]
@
H@H
_ | _ ® 1
© < o~ o 0 © <
~ N ~ Y — — o~

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

it

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

‘Ov6E
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

‘TY6€

Tv6E



mean vs run

asym_bcm_dg_us_bcm_dg_ds_agg_avg_|

pulllD

50

Entries

Mean -0.002062

0.3422

Std Dev

22

5.856 /49
-33.86

X2 [ ndf
0

178.3

s

p

3000

2000

“Fanmto"amtwoToTamto TamtoTRNmMmIno Tamt onmto T amt wo o<

2
0

pull

50

bl Bl Bl Bl Al B B 4

s
-
-
-

i-i-i-i-f-f-f-p




asym_bcm_dg _us _bcm_dg _ds _agg_avg _rmsvs run

8065 / 49
125.8 + 0.126

X2 / ndf

p0O

[ 11 ____ ___ [ 11 ____ ___ ____ [ 11 ____ ___ 1.

SyeE

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

o
(o))
—

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

TY6E

Tv6E



mean vs run

asym_bcm_dg_us_bcm_dg_ds_agg_dd

) ? ]
= s ° - @
3| ¢ c H -
& W, m ||6
— ~
— «
I —
_|_|; |Ho
— «
—_ ¥
— ¢
I BRI BRI B R AT BT B BT R
(2] © ~ © n < o N — O&u
— Q o
3 ™ iR
~ !
~ N
o +H
N <
—
<
o™
Yo
o
c
~~
o O
< o

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o




o N
<t O
> 8
w o —o—
—“_ (@) —@—
+l —e—
c N o
ol QI -
> —e—
N | ——
m O —@—
r_ < —@—
~~
g% 3 =S
| < .
> e
S -~
n -
d_ —o—
—e—
(@)
S, .
—e—
- e
(&) —@—
o) —o—
S_ —o—
U_ -0~
S o
| —e
e @
E) —e—
o o
| —@—
—e—
£ e
%) —@—
@ —e—
.
—e—
—e—
o
| _ | | 111 | | 1 |
N - o o 00 N~
o\ N N — — —

¥ "'0S6€
€ '056¢€
¢ '056¢€
T '0S6€
0 '0S6€
S '6V6€
¥ '6v6¢€
€ '6v6¢€
¢ '6V6€
T '6v6€
0 '6v6€
¥ '8¥6¢€
€ '8v6¢
¢ '8v6€
T '8v6€
0 '8v6€
v "Lv6E
€ 'LVv6E
¢ 'LVv6E
T 'Lv6E
0 'Lv6E
S '9v6€
v "9vee
€ '9r6¢€
£ ¢
0 '9v6¢€
v "Sv6e
€ 'Sv6e
¢ 'Sv6E
T 'G¥6€
0 'Sv6€
v vvee
€ 'vree
¢ 'vv6e
T 'vv6€
0 'vv6€
T '€v6e
0 'Evee
G Cv6e
¥ Zv6E
€ 'Cr6e
¢ 'Cv6e
T '¢v6e
0 2vee
v Tv6e
€ 'Tv6e
¢ 'Tv6e
T 'Tv6€
0 'Tv6e



asym_bcm_dg_us_cav4cQ_agg_avg_mean Vs run

(=3 < g
8 3 g
@) 2 &
g 3
g
d s -
= .
3 g 5 g ]
o E] 5§ =
w = 0 e
T N I EE N B B B B [
N o [ee) © < N o o] © < N o
N N — — — — —

7.764 /49

2 | ndf

X

176.5

s
.T
®

23.93
®
o

pO

“Fanmto"amtwoToTamto TamtoTRNmMmIno Tamt onmto T amt wo o<

3000{—
2000 f—ereesresermsnesennsinennn e T
1000




asym_bcm_dg_us_cav4cQ _agg_avg._rms vs run

o“dam ﬁ'C)F‘OJU)ﬁ'U)C)F‘C>F‘OJW)ﬁ'C>F‘ﬁlﬂ)ﬁ'()“TV(ﬁ tmwoTamtoTNmgtoTAaMmtwoO T Nms

o) 00
< <
- N
o o
mo
o ®
Lo P
N °
- ™
®
Y
© ®
c e
~~
o O o
<X Qo g
.
°
e
°
°
e
Py
°
™
°
™
™
°
™
°
°
°
°
.
P
P
.
.
°
°
°
| __ ___ﬂJ___ L1111 ___ |1
o o (@) o
» S D |
— — <«

‘0G6€
‘056€
‘0S6¢€
'‘056€

‘0S6€

‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

WA

WAZGS
‘Ov6E
‘Ov6E

‘Ov6E

W
‘Ov6E
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

vr6e

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

“TV6E

“Tv6e



600

400

200

=200

-400

-600

-800|

-1000 F

05

asym_bcm_dg_us_cav4cQ_agg_dd_mean vs run

x2 [ ndf 48.12 / 49
p0 -23.43 + 33.87

R IR IR R b L B T e R b e

pulllD

Entries 50

Mean  0.003924

Std Dev 0.981

-8

-6 -4 -2 0 2 4 6 8



26

25

24

23

22

asym_bcm_dg _us cav4cQ _agg _dd _rms vs run

_ x2 | ndf 1426 / 49
B pO 23.97 + 0.02395
C + ’

- ¢

- ¢

E_ ; ﬂ} + # h}# i
LRSS SO S YR 1 S SR )

-t ¢ ! t ¢

C ¢ {»'H ! # ¢ ¢

n t }

- ¢

- ¢ bt

- %

s
S
nm

vvvvvvvvvvvvvvvvvvvvvv

¢¢¢¢¢¢¢¢¢¢¢¢¢¢

mmmmmmmm
®®®®®®®®®®
mmmmmmmmmm




asym_bcm_dg_ds_cav4cQ_agg_avg_mean vs run

1|

=
) s
= . 3
o | £ § 3
w = n
_|_
M | | | | I T R
N o [e0] [{e) < N o
(V] N - — — — —
@ ©
< 4
~ ~
O - 1
D+ i
- ©
~ S
©
—
|
Y—
S
[
iy
o O
< o
: ®
_____ | |
o o
S S 3 8
: g P ¢

“Fanmto"amtwoToTamto TamtoTRNmMmIno Tamt onmto T amt wo o<

-197.9
214.7

0




asym_bcm_dg _ds cav4cQ _agg_avg rms vs run

o M
<t <«
- N
~ .
— O &
o+ .
™~
—i .
(q\| °
—i Y
P
.
“— °
s
= °
c ™
- -
o O o
< Qo o
°
s
P
s
°
°
PS
s
>
e
e
PS
PS
™
s
S
°
°
°
s
.
°
s
°
s
*
ps
*
*
°
s
°
°
EEENERRERIRRRRE RN RRERE RRRRARREL ARRRERRENE
o o o o o o 0 o o o
» ®© ~ © s < ™M N — o
- — — — - - - - - —

o“dam ﬁ'C)F‘OJU)ﬁ'U)C)F‘C>F‘OJW)ﬁ'C>F‘ﬁlﬂ)ﬁ'()“TV(ﬁ tmwoTamtoTNmgtoTAaMmtwoO T Nms

‘0G6€
‘056€
‘0S6¢€
'‘056€

‘0S6€

‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6¢E
‘8¥6€
‘876€
‘8¥6€
‘8¥6€
‘876€
PAZIS
A7
A7
WA

WAZGS

‘Ov6E
‘Ov6E

‘Ov6E

W

‘Ov6E

‘SY6¢E
‘SV6E
‘SV6E
‘SY6E
‘SV6E
vr6e
vr6E
vr6e
Vr6€E

vr6e

‘EV6E
‘EV6E
K47
¢v6E
RAZ
KA
ev6e
¢v6e
"TV6E
“Tv6E
"TV6E
“TV6E

“Tv6e



asym_bcm_dg_ds_cav4cQ_agg_dd_mean vs run

pulllD

50

Entries

0.01269

Mean

Std Dev  0.9554

!

OIII|III|II
_6

45.64 / 49
-64.78

X2 / ndf

+28.51

pO

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

-54.14
44.48

.............

pull

.............




asym_bcm_dg _ds cav4cQ _agg _dd _rms vs run

225 X2 / ndf 1742 | 49
PO 20.18 + 0.02016

22

21.5

21

20.5

20

19.5

19

18.5

18

] I|IIII|IIII|IIII|IIII|IIII|IIII|IIII*IIII|IIII|
o
—e—
——
——

¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢



asym_bcm_an_us_cav4cQ_agg_avg_mean vs run

pulllD

50

Entries

0.001102
0.4186

Mean
Std Dev

)

762 /49

9.001

8

X2 / ndf

+ 170

pO

S

3000

-1000

—-2000

-3000

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

4
2
0

pull




asym_bcm_an_us_cav4cQ _agg_avg._rms vs run

o
<t O
- N
mn .
mo
OO+_ _Q_o_
) s
o °
—i [
@
— ®
®
y— o
© ®
c ®
~ [
o O Y
< O Ld
°
®
@
'Y
Y
°
°
>
Y
@
Y
°
°
°
°
'Y
°
-
Y
>
.
°
'Y
°
Y
°
°
-
-
°
°
®
| 11 ___ | 11 ___ ___ | 11 ___ | 11 ___ ___ | 11 _4; | 11 ___ ___
o o o o o o o o o
0 N~ (o) Lo <t (40 AN — o
A —d «d «H «H «H «H «HA

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

‘0G6€
‘056€
‘0S6¢€
'‘056€
‘0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6¢E
‘8¥6€
‘876€
‘8¥6€
‘8¥6€
‘876€
PAZIS
A7
A7
WA
WAZGS
‘Ov6E
‘Ov6E
‘Ov6E
SVoE
‘Ov6E
‘SY6¢E
‘SV6E
‘SV6E
'SV6¢E
‘SV6E
vr6e
vr6E
vr6e
Vr6€E
vr6e
‘EV6E
‘EV6E
K47
¢v6E
RAZ
KA
ev6e
¢v6e
"TV6E
“Tv6E
"TV6E
“TV6E
“Tv6e



asym_bcm_an_us_cav4cQ_agg_dd_mean vs run

al?® § ¢
= - I 5 @
= 8 s g .
& W, m || ©
- ~
— I 3
— o
1 1 —]
—
—_ ¥
— ¢
n L L | L L L | L L L | L L L | L L L | L L P
m [oe] © < N o nﬁ
o~ B8%
N N &
~~ 8 !
M .
= .
< .
™ 3 .
< .
%) .
| .
y— ]
S .
[ -
~~ -
~ o
<

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o




asym_bcm_an _us cav4cQ _agg _dd _rms vs run

x2 1 ndf 1523 / 49
p0 20.22 + 0.0202

22.5

22

21.5

21

20.5

20

19.5

19

TTTTTTTITT T T TR T T T T T T T T T TTTT I TTTITI T
[TTT LT | | | | |
—e—
—e—
—e—
—e—
—e—
—e—
—e—
—e—
—e—

18.5

¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢



asym_bcm_an_ds_cav4cQ_agg_avg_mean vs run

pulllD

50

Entries

0.002252

Mean

0.4232

Std Dev

)

8.954 /49
44.39

2 | ndf

X
pO

170.4

s

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

0

pull




asym_bcm_an_ds_cav4cQ _agg_avg_rms vs run

o
< O
- N
o o
M._O
+I L
0o ™
N .
°
N -
™
- ™
™
Y— ™
© ®
c ®
~ ®
o O ®
<X L
°
™
@
™
°
°
™
™
Y
Y
@
°
™
™
°
o
o
™
™
™
°
o
°
™
.
™
™
™
°
™
.
| 1 ___ [ ___ | 1 ___ [ ___ | 1 ___ ___ [ _4: [ ___ | 1
o o o o o o o o o
0 N~ (o) Kp] < (40) (q\] — o
- = @ =H @ =H = «=H = «=€ +

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

‘0G6€
‘056€
‘0S6¢€
'‘056€
‘0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6¢E
‘8¥6€
‘876€
‘8¥6€
‘8¥6€
‘876€
PAZIS
A7
A7
WA
WAZGS
‘Ov6E
‘Ov6E
‘Ov6E
SVoE
‘Ov6E
‘SY6¢E
‘SV6E
‘SV6E
'SV6¢E
‘SV6E
vr6e
vr6E
vr6e
Vr6€E
vr6e
‘EV6E
‘EV6E
K47
¢v6E
RAZ
KA
ev6e
¢v6e
"TV6E
“Tv6E
"TV6E
“TV6E
“Tv6e



asym_bcm_an_ds_cav4cQ_agg_dd_mean vs run

50
0.9616

pulllD

Mean -0.006311
8

Entries
Std Dev

v
|

f

|III|III
-4

PR TN TR TR TN N TN ST SN S [N T T N N N T T T T [N TN ST N N AN T T TN T NN SN ST SN T [N T W W
© ~ © ) < ™ o~ —

oLLLL
-8

46.24 1 49

X2 / ndf

-427.1
455

31.78

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o




asym_bcm_an_ds cav4cQ _agg _dd _rms vs run

1.111e+04 / 49
22.39 £ 0.02247

x? [ ndf
pO

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

e

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

TY6E

Tv6E



Id_usl_mean vs run

yie

pulllD

50

Entries

-1.236

Mean

Std Dev  2.118

1.752e+06 / 49

2 | ndf
68.81

X
pO

+ 0.0001992

50
280.4
256.5

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

OIIIlIIIlII |III III|III|III|III

-
-
-
-
-
-
-
-
-
-
-
-

-100

-200
-300

-400

-500



usl_rms vs run

yield

o o o o

o o
< O
=3
S o
T O °
o © °
Q2 °le
~ 4-
o ©
% °
[ }
— °
o °
[ )
= [ )
MW °
— [ ]
% B * e
=< (]
[ )
[
[
[ ]
[
[
[ }
[ }
[ ]
[ J
[ )
[
[ ]
[ ]
[
[ )
(]
[
[
[
[ )
[ ]
[ ]
[ ]
[ )
[ }
[ }
[ }
9
[ )
NERIARERARRER RRERERRRRERRRRERRRRARRRRL A ERANE
Te) T} < T} ™ Te) N Ty b
o < o ™ o N o — o

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

SyeE

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

TY6E

Tv6E



pulllD

50

Entries

-1.556

Mean

5.191

Std Dev

1.331e+06 / 49

/ ndf
69.07

XZ

0.0001252

+

p0

|d_usr_mean vs run

yie

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

OIII|III|III|III|III|III|II |III

300

200

-200

=300




USr_rms vs run

yield

5.534e+04 / 49
0.0862 + 8.853e-05

X2 [ ndf

p0O

0.08

0.06

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

SyeE

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

‘TY6€

Tv6E



Id_dsl_mean vs run

yie

pulllD

50

Entries

Mean -0.3796

Std Dev  3.649

1.147e+06 / 49

/ ndf
66.52

XZ

0.0002014

+

p0

04

0.2

50
273.4
249.9

BB Q[+ e

BB B[+

_
N~
©
©

66,6

oLLll |I 11 |I 11 |I 11 |I 11

bl Rl Bl Bl Bl B 2 A 4

-
-
-r
-r

i-3-9-§-§-f-f-f

200

100

-100

-200

=300

-a00 E-p g




dsl_rms vs run

yield

o <
< N
= 3
S o
S
pe)
o ©
g o
g -
N S
S
T
o
Y
5
c
~~
o~ o
< o
[ )

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

SyeE

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

‘TY6€

Tv6E



|d_dsr_mean vs run

yie

pulllD
50

Entries

-1.411

Mean

Std Dev  4.575

1.493e+06 / 49

66.6

2 | ndf

X
pO

+0.0001212

:

0
©
©

@
©
©

™~
©
©

©
©
©

n

©
©

.______J__
<

©
©

_ 1 111 _
™ o~
> ©
©

0.2

50

-135.9
153.6

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

0

300

200

100
-100

-200

-300
-400




dsr_rms vs run

yield

5.643e+04 / 49
0.08341+ 8.571e-05

X2 I ndf

p0O

SyeE

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

<
i

o

90}
i

o

N
i

o

L1y
—
1_
o

0.08

0.07—

0.06 —

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

‘TY6€

Tv6E



ld_bcm_an_ds_mean vs run

yie

pulllD

50

Entries

Mean

0

Std Dev

5.349e+05 / 49

68.8

2 [ ndf
0

X
p

0.0002672

+

:
( I
o

%

.

L
©
o0
©

ol
™~

[¢¢]
©

L
n
o]
©

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

pull

836.9

OIII|III|III|III|III|III|III|III

-100




bcm_an _ds rms vs run

yield

1.867e+04 / 49
0.1875 + 0.0001889

x2 [ ndf

ipo

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

0.12

SyeE

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

‘TY6€

Tv6E



ld_bcm_an_ds3 _mean vs run

yie

BO. B[+

pulllD

50

Entries

Mean

0

Std Dev

5.42e+05/ 49

69.35

2 [ ndf
0

X
p

+0.000274

BO.T [ eree e

BO.B e

BO.G[ e er e

eI | R P I S

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

0.2

pull

50
736.2
710.1

OIII|III|III|III|III|III|III|III

-100




bcm_an _ds3 rms vs run

yield

O
< ™
S8
S o
? S °
o < >
® S
o T
™
1% .
[ ]
i >
o
[
Y—
S
c @
~~
o~ o
@
< o .
L 4
[
@
@
H .
[ ]
[
[ ]
[ ]
@
[ ]
@
[ ]
@
@
@
@
@
@
H .
[ ]
L
[ ]
L1 I LT
© < ~ ~ 0 © <
SR TR  SPA S T B
o o o o o o

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

SyeE

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

‘TY6€

Tv6E



ld_bcm_an_us_mean vs run

yie

pulllD

50
-3.007

Entries
Mean

0

Std Dev

6.937e+05 / 49

68.11

2 | ndf
0

X
p

+ 0.0002661

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

B8+ e

BB e e

OIII|III|III|III|III|III|III|III




bcm_an uS_rrms vs run

yield

1.874e+04 / 49
0.1867 + 0.0001881

X2 [ ndf

p0O

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

0.12

SyeE

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

‘TY6€

Tv6E



pulllD

50
2.506
0

Entries
Mean
Std Dev

OIIIlIIIlIIIlIIIlIIIl II|III|III

0.2

50

843.7
817.6

0.000289

+

5.443e+05/ 49

69.45

2 [ ndf
0

X
p

yield_bcm_dg _us_mean vs run

.0 L)
® .. oe®%0

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

o

BO. Qv erre e

s g g 3 g
g 38 8 8 ° 8 8 3
& & = i 2 2

BO.B e
BO.7 [ e
OB+ oo

BO.5[ e

e



yield _bcm_dg_us rmsvs run

o ™
< <
-
S o
? S °
o © .
< .
oo Tt
: 0 °
1% .
ﬂl [
o .
[ ]
S [ }
MW °
— ®
%2 .
=< [ ]
L 4
@
[
@
@
[ }
@
[ }
[ ]
L
[ )
[ )
@
@
[
[ )
H .
@
[ ]
[ )

L _ _ _ HEJEE _ _
® © < «~ «~N o ©© <
N N N N o — — —
c o©o o o o o o

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

SyeE

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

TY6E

Tv6E



yield_bcm_dg_ds_mean vs run

pulllD

50

Entries

6.966

Mean

0

Std Dev

5.02e+05/ 49

69.39

/ ndf

2

X
p

0.0002759

+

0

™
o
©

N
o)
©

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

pull

OIII|III|III|III|III|III|III|III

ek ol el il Al Al il 4

sirdeirieiriepcbeppe

ek ol el il Al el 4




ds_rms vs run

yield _bcm_dg

-
2 b
J o
—
S o
o o [ ]
5 9
< o - °
© 4 |.g
OD o) (]
— ™
o))
—
o [
Y—
2
N
@
< o .
L g
[
@
[ ]
@
[ }
[
H
[ ]
[ ]
@
@
[ ]
@
[
[
[ ]
@
[
[ |
Ll '
© < ~ ~ 0 © <
SR T P S T B
o o o o o o

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

SyeE

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

‘TY6€

Tv6E



mean vs run

ld_cav4bQ

yie

pulllD

50

Entries

-1.713

Mean

Std Dev  4.868

1.014e+05/ 49

2 | ndf
0

X
p

-06

+ 9.295e

400.4

400.4481—:--*-

B00.446—---veemeeeeereree

V10 0 V.ly) S

400.44

400.438

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

0.2H

0




yield_cav4bQ rms vs run

1114/ 49

0.00658 * 6.573e—06

X2 I ndf

p0O

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

‘0G6€
‘056€
‘0S6¢€
'‘056€
‘0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6¢E
‘8¥6€
‘876€
‘8¥6€
‘8¥6€
‘876€
PAZIS
A7
A7
WA
WAZGS
‘Ov6E
‘Ov6E
‘Ov6E
W
‘Ov6E
‘SY6¢E
‘SV6E
‘SV6E
'SV6¢E
‘SV6E
vr6e
vr6E
vr6e
Vr6€E
vr6e
‘EV6E
‘EV6E
K47
¢v6E
RAZ
KA
ev6e
¢v6e
"TV6E
“Tv6E
"TV6E
“TV6E
“Tv6e



yield_cav4cQ_mean vs run

pulllD

50

Entries

-1.105

Mean

Std Dev  3.347

6.563e+05/ 49

69.23

/ ndf

2

X
p

0.0003467

+

0

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

0.2

OIII|III III|III|III|III|III|III

300 FETFEE

200

100

-200




yield_cav4cQ_rms vs run

5.46e+04 / 49
0.2388 + 0.0002451

X2 [ ndf

p0O

[ )
EhANEEN
~N

o

)
1_
o

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

SyeE

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

‘TY6€

Tv6E



pulllD

50

Entries

1.886

Mean

Std Dev  3.946

mean vs run

Ild_cav4dQ

yie

4.717e+04 / 49

X2 I ndf
0

-06

+ 9.938e

379

p

® o

379.038

379.036

379.034—-----eueenes

379.032— e

379,08 [ e

379.028—-----

0.2

pull

50

OIII|III|III|II | 11

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o




yield_cav4dQ _rms vs run

315.7/49

x? / ndf

O
7
%
N~
N ——
Q ———
N~ ——
+| ——
o 0] e
Ip) —@—
o ——
~ | —e—
o —
S —to—
o ——
——
——
——
o °
o |
——
*—
———
——
+—eo—
——
——
——
—+—
———
——
—@—
——
——
——
H—@—
——
——+
——
——
——
—@—
——
——
——
——
—@—
H—@——i
——
——
H
_ |1 __ L 111 __ [ 11 l _ _ __ l _ _
< ™ N NG, N~ o)) 00 N~ ©
~ N~ N~ r~ o © © © ©
o o o Q o o o o o
S & & <2 g5 & & o 9
o o o o o o o o

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

‘0G6€
‘056€
‘0S6¢€
'‘056€
‘0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6¢E
‘8¥6€
‘876€
‘8¥6€
‘8¥6€
‘876€
PAZIS
A7
A7
WA
WAZGS
‘Ov6E
‘Ov6E
‘Ov6E
SVoE
‘Ov6E
‘SY6¢E
‘SV6E
‘SV6E
'SV6¢E
‘SV6E
vr6e
vr6E
vr6e
Vr6€E
vr6e
‘EV6E
‘EV6E
K47
¢v6E
RAZ
KA
ev6e
¢v6e
"TV6E
“Tv6E
"TV6E
“TV6E
“Tv6e



Id_bcmO0I02_mean vs run

yie

pulllD
50

Entries

1.667

Mean

Std Dev  3.846

1.103e+06 / 49

69.81

2 | ndf
0

X
p

+ 0.0003642

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

0.4

0.2
0

pull

50

-100

-200

-300




bcmO0I02_rms vs run

yield

o
< ~
S R
S o
S
pe)
o ©
N o
@ 2
M N
L0
N
o
Y
5
c
~~
o~ o
< o
[ |
_
Lo
o

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

SyeE

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

‘TY6€

Tv6E



01WS_mean vs run

|ld_bpm?2i

yie

pulllD

50

Entries

2.109

Mean

Std Dev  4.328

4.079e+06 / 49

1.078e+05

X2 I ndf
pO

0.1791

+

0.8

x10°

0000¢

L0 sesseseese e

106.5

“Fanmto"amtwoToTamto TamtoTRNmMmIno Tamt onmto T amt wo o<

-3.229
29.39




O1WS rms vs run

ld_bpm?2i

yie

o ©

<t O©

- N

1 <

mW o

O +I

MmO

O

21

i

Y

©

(=

~~

o O

< O
°
|

e (L XX

1000

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

SyeE

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

‘TY6€

Tv6E



07WS_mean vs run

|d_bpmoOi

yie

pulllD

50

Entries

Mean -0.6898

3.71

Std Dev

8727149

/ ndf

XZ

1.213e+05 + 0.3007

pO

x10°

12032 oo

121.3

P .

L2124 —--rerrmrenmnennnses

S Y

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

pull

0




yield _bpmOiO7WS_rms vs run

x2 1 ndf 726.6 / 49
p0 212.9 + 0.2126

225

—@—
—@—
—@—

220

II|IIII|IIII|II‘I|IIII|IIII|IIII
—@—
——
1
—@—

215

210

——
——
——
——
——
-
—@—
—@—
——
—@—+
—@—
——
——

205

200

¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢¢



yield_bpmOIO1WS_mean vs run

3
x10 X2 / ndf 6.795e+04 / 49

] pulllD
L pO 1.049e+05 £ 0.1561
C ® o0
104.98—------erermrereenes @ e eeeeeeeeeeeeeeteeeeeeoeaeiieiecieiiiiiieeicieecicieeiiieeios 1 A - _ _
- ° o ® Entries 50
C e © L
O, OB [ mmm s s st e
o [ J - Mean -1.092
C o9 PY
10494 @ @ o .
Py [ J L Std Dev  4.132
- @ [ ) [ 0.8
104,92 ----mrmrmmr e o g
- L J [ B
L [ J o © [ ] °
1049 B F O gy @ B I
- o I
104,88 geerereseerreremireneninennninennn e O R
N [ 0.6
- [ 'Y
0 =1 ] T PR RET L
104 BA = o
- o r
- [ J
LA, B2 v e reme e e et 04
o anmtoamtwoToTamto Tamto N mtwo Tamt o anmto T ams wo s i
HHH-—!rir\i‘\‘wNr\imcvz'mé“‘vviémmm'mmo%dddr\' NENN BB S60D 500 3330 S0
R S b S B B A S B s S A S S S B S e D i s S s S s s RS S S S fTe PqTo BT I o
cno’mcncnmo"cnmmo‘)cnc”mc”cnmmcnmmmmm%mmmm@mmmmmmmc:mmmmmmmc’mmcn
OPHOHOHNPNNNDNPHNOHHDHPOHNH NN OHOOHMPOHNNNTPOOOHPOHOHOHOHOHNPM OO
= pull
80 Entries 50 0.2
60 Mean -215.2
: Std Dev 246.6 -

OIII|III|III| II|II |III|III|III
-8 -6 -4 -2 0 2 4 6 8




yield_bpmOIO1WS rms vs run

e

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

o ™M
< O
= 3
<t <
40 T.l_._
QO+ o
@
AH @
o @
—i —@—
@~
— —@—
@~
Y— -
© @~
C
~ —@—
w R 4
=< @
—@—
@
@~
@~
—@—
——
—@—
—o—
@~
—@—
o
@
o
@
o
@
-9~
—e—
@~
——
—@—
—o—
o~
—@—
rs
@~
—@—
@
| 111 | 111 | 111 | 11 __ | 1 __441_ | 11 _ | 111
L0 o Kp] o L0 o
N N — — o
- — — — —

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

TY6E

Tv6E



pulllD

50

Entries

-4.023

Mean

Std Dev  2.536

9.025e+04 / 49

2 | ndf
0

X
p

+0.001685

-4.368

0.6

|ld_cav4bX_mean vs run

yie

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

pull

0




cav4bX_rms vs run

yield

4.177e+05/ 49
0.9121+0.001192

X2 / ndf
p0O

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

SyeE

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

‘TY6€

Tv6E



pulllD

50

Entries

1.395

Mean

Std Dev  2.259

4.001e+05/ 49
0.4576

/ ndf

XZ

0.001102

+

p0

0.6

0.2

50
-18.05
40.73

OIII|III|III|III| II|III| II|III

sd-d-d-d-b-b-bobob o)

sd-d-d-d-bobobobob

|ld_cav4bY_mean vs run

yie

d-d-d-d-b-bofbob

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

50
0
0

5
-100
-150



cav4bY_rms vs run

yield

3.604e+05/ 49
0.6248 + 0.0007791

X2 [ ndf

p0O

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

SyeE

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

‘TY6€

Tv6E



|ld_cav4cX_mean vs run

yie

pulllD

50

Entries

2.186

Mean

3.83

Std Dev

II|II
2

2.48e+04 / 49

2 | ndf
0

X
p

-06

+ 6.35e

0.1577

O] I S

0.159f -

0.158fF -+ -eeeeens

0.157—@®---*

0. LB+ +eeesreeessi s

1 L] R

0154 [

L I PN

0,152 —++eeeeeeereee s B

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

0.4

pull

50

-1.572
32.43

0.2
0
-8




cav4cX _rms vs run

yield

o ©
< O
3 &
M9
F < *
o < °
N °
™
e}
M
o [ }
Q °
o °
S ol ®
m °
“ 2 °le
=< (]
[ |
[ ]
[ ]
[ ]
[
[ }
[ }
[
[ ]
[
»
[
®
[
[ ]
[ )
[ ]
q
[
[ ]
[ ]
[ }
o
[ )
[ }
[ )
o 9
<t N — [e'e) O <
— — o o o o
) o o ) o )
o o o o o

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

SyeE

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

‘TY6€

Tv6E



|ld_cav4cY_mean vs run

yie

pulllD

50

Entries

-0.456

Mean

Std Dev  4.122

ILILL

4.842e+04 / 49

x2 I ndf

-06

—-0.08535 + 5.463e

p0

-0.082

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o




cav4cY_rms vs run

yield

o ©
< O
o
S ™
: g P
o X °
5 @ * .
o &
1 [ ]
— Mw p|
=) .
Qo °
o
Mw [ |
c °
~ O
< a L
[ ]
[ ]
[ ]
[
[ ]
[ ]
[ ]
[ ]
q
[ ]
L J
[
(]
[
[ ]
[
[ ]
[
®
[ ]
[ ]
[ ]
[ }
[ ]
[ ]
NIRRRRARRERERRERI RN RRRRERRRRIRRERA NI AR RRRRIRE
mw ~ O © 1 L o < wWw o™
AN O © © 1B O I o ® o
o © o & © 6 o 6 o o
© o © o © o ©@ o © o
o o o o o

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

‘0G6€
‘056€
‘0S6¢€
'‘056€
‘0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6¢E
‘8¥6€
‘876€
‘8¥6€
‘8¥6€
‘876€
PAZIS
A7
A7
WA
WAZGS
‘Ov6E
‘Ov6E
‘Ov6E
W
‘Ov6E
‘SY6¢E
‘SV6E
‘SV6E
'SV6¢E
‘SV6E
vr6e
vr6E
vr6e
Vr6€E
vr6e
‘EV6E
‘EV6E
K47
¢v6E
RAZ
KA
ev6e
¢v6e
"TV6E
“Tv6E
"TV6E
“TV6E
“Tv6e



pulllD

50

Entries

Mean -0.4714

Std Dev  4.832

6.849e+04 / 49
7.042

2 | ndf

X
pO

-07

2.316e

|ld_cav4dX_mean vs run

yie

d

7.04195

7.0419

T.0ALBE [ +vreeressee s Sl

DAL T [ e

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o

pull




289.3 /49

0.0001641 + 1.638e-07

X2 [ ndf

pO

cav4dX_rms vs run

yield

x10~°

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

‘0G6€
‘056€
‘0S6¢€
'‘056€
‘0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6¢E
‘8¥6€
‘876€
‘8¥6€
‘8¥6€
‘876€
PAZIS
A7
A7
WA
WAZGS
‘Ov6E
‘Ov6E
‘Ov6E
SVoE
‘Ov6E
‘SY6¢E
‘SV6E
‘SV6E
'SV6¢E
‘SV6E
vr6e
vr6E
vr6e
Vr6€E
vr6e
‘EV6E
‘EV6E
K47
¢v6E
RAZ
KA
ev6e
¢v6e
"TV6E
“Tv6E
"TV6E
“TV6E
“Tv6e



|ld_cav4dY_mean vs run

yie

pulllD

50

Entries

1.199

Mean

0

Std Dev

2.6e+06 / 49

X2 [ ndf
pO

0.0001739

+

-0.3643

04

0.2

pull

50
24.49

18.63

oIII|III|III|III|III|III|III|III

TJanmvtoTdamsmwoToTamto Tam o mtwnwo Tt o nmto T ams wo o




cav4dY_rms vs run

yield

o ™
<t
> g
D o
F <
%O
D+
c B
© ~
N~
o
o
Y
5
c
~~
o~ o
< o
(]

ovdamtoTaNmgtmwoToTamt o Mt o Nt mwoTaNmtoTamt o Tamgtmwmo T ams

SyeE

‘0G6€
‘056€
‘0S6¢€

'‘056€

0S6€
‘6v6¢E
‘6v6€
‘6v6¢E
‘6v6€

‘6v6¢E

‘6v6¢E
‘8¥6€
‘876€
‘8¥6€

‘8¥6€

‘876€
PAZIS
A7
A7

"LY6E

LV6€
‘Ov6E
‘Ov6E

ov6E

ov6e
‘SY6¢E
‘SV6E
‘SV6E

‘SY6E

‘SV6E
vr6e
vr6E
vr6e

Vr6€E

1443

‘EV6E

‘EV6E
K47
¢v6E
RAZ
KA

ev6e

¢v6e
"TV6E
“Tv6E
"TV6E

‘TY6€

Tv6E



X_mean vs run
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Y_mean vs run
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